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�D><56GF>G=4O 4FF5EF4F<O 74G5F 74G5F 

 
5. %>45D64=<5 4<EF<??<=O 

5.1 $4745?O 4<EF<??<= < 6<4O 74=OF<= 

�G=4O D>D<4 >5GG5=<O 

7 

?/? 
�4<<5=>64=<5 D4745?>6 

�E57> 

(G4E>6) 

�G4<F>D=O5 74=OF<O 

(G4E) 
%$

% 
�5>F<< �� �� 

1. 
$4745? 1. -?5>FD<G5E><5 F5?< ?5D5-
<5==>7> < ?>EF>O==>7> F>>4. 

30 6 4 4 16 

2. $4745? 2. -?5>FD<G5E><5 <4L<=O 24 6  2  2 14 

3. 
$4745? 3. �E=>6O 4=4?>7>6>= < F<D-
D>6>= M?5>FD>=<>< 

18 4   2  2 10 

�E57> 74 E5<5EFD  72 16  8  8 40 

 

�G=>-74>G=4O D>D<4 >5GG5=<O 

 

7 

?/? 
�4<<5=>64=<5 D4745?>6 

�E57> 

(G4E>6) 

�G4<F>D=O5 74=OF<O 

(G4E) %$% 

�5>F<< �� �� 

1. 
$4745? 1. -?5>FD<G5E><5 F5?< ?5D5-
<5==>7> < ?>EF>O==>7> F>>4.  

34 6  4 4 20 

2. $4745? 2. -?5>FD<G5E><5 <4L<=O 26 4  2  2 18 

3. 
$4745? 3. �E=>6O 4=4?>7>6>= < F<D-
D>6>= M?5>FD>=<>< 

12 2   - - 10 

�E57> 74 E5<5EFD  72 12 6  6 48 

 
�4>G=4O D>D<4 >5GG5=<O 

7 

?/? 
�4<<5=>64=<5 D4745?>6 

�E57> 

(G4E>6) 

�G4<F>D=O5 74=OF<O 

(G4E) 
%$

% 
�5>F<< �� �� 

1. 
$4745? 1. -?5>FD<G5E><5 F5?< ?5D5-
<5==>7> < ?>EF>O==>7> F>>4. 

25 2 2 1 20 

2. $4745? 2. -?5>FD<G5E><5 <4L<=O 26 1 2 1 22 

3. 
$4745? 3. �E=>6O 4=4?>7>6>= < F<D-
D>6>= M?5>FD>=<>< 

21 1 - - 20 

�E57> 74 >GDE 72 4 4 2 62 

 
 
 
 



8 

5.2 &5<4F<G5E><= ??4= ?5>F<= 

�G=4O D>D<4 >5GG5=<O 
7 

?/? 
&5<O ?5>F<= 

�>?-6>  

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 

1. 
�E=>6=O5 ?>=OF<O, >?D545?5=<O < 74>>=O M?5>FD<G5E><E F5?5=. -?5<5=FO 
F5?< < 5U F>?>?>7<G5E><5 ?4D4<5FDO. �4>>=O �<4. 

2 

2. 

�4>>=O �<DE7>D4. �4?4=E <>M=>EF5=.  
�5F>4O 4=4?<74 D4EG5F4 ?<=5==OE F5?5= ?>EF>O==>7> F>>4. 
�5F>4 74>>=>6 �<DE7>D4. �>F5=F<4?L=4O 4<47D4<<4. �5F>4 >>=FGD=OE 
F>>>6. �5F>4 G7?>6OE =4?DO65=<= 

2 

3. 

�=4?<7 M?5>FD<G5E><E ?D>F5EE>6 6 F5?OE E D57<EF<6=O<, <=4G>F<6=O< < 5<-
>>EF=O< M?5<5=F4<<. &D5G7>?L=<>< E>?D>F<6?5=<= < ?D>6>4<<>EF5= F5?<. 
�>M=>EF< F5?5= E<=GE><44?L=>7> F>>4.  

2 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

4. 
'EFD>=EF6> < ?D<=F<? D45>FO FD4=ED>D<4F>D4.  
�=4?<7 M?5>FD><47=<F=OE ?D>F5EE>6 6 FD4=ED>D<4F>D5 

2 

5. 

-?5>FD<G5E><5 <4L<=O. �4L<=O ?>EF>O==>7> F>>4 (��&). 'EFD>=EF6> < 
?D<=F<? 45=EF6<O ��&. %E5<O 6>75G645=<O ��&. $45>F4 ��& 6 D56<<5 
75=5D4F>D4 < 46<74F5?O.  

2 

6. 

�E<=ED>==O5 46<74F5?< (��). 'EFD>=EF6> < ?D<=F<? 45=EF6<O FD5ED47=>-
7> ��. �5E4=<G5E><5 < D45>G<5 E4D4>F5D<EF<>< ��. �GE> < D57G?<D>64=<5 
E>>D>EF< ��. %<=ED>==O5 <4L<=O (%�). 'EFD>=EF6> %�. $45>F4 %� 6 
D56<<5 75=5D4F>D4 < 46<74F5?O 

2 

$4745? 3.  �E=>6O 4=4?>7>6>= < F<DD>6>= M?5>FD>=<>< 

7. 

-?5>FD>==>->?F<G5E><5 GEFD>=EF64. -?5<5=FO D<7<>< ?>?G?D>6>4=<>>6. 
�EF>G=<>< 6F>D<G=>7> M?5>FD>?<F4=<O. �4=>?>?G?5D<>4=4O < 46GE?>?G?5D<-
>4=4O >4=>D47=4O < <=>7>D47=4O EE5<O 6O?DO<?5=<O. -?5>FD>==O5 GEFD>=-
EF64.  

2 

8.  �=4?>7>6O5 ?D<5>DO. &<DD>6O5 <7<5D<F5?L=O5 ?D<5>DO.  2 
�E57> 16  

 
�G=>-74>G=4O D>D<4 >5GG5=<O 

7 

?/? 
&5<O ?5>F<= 

�>?-6> 

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 

1. 
�E=>6=O5 ?>=OF<O, >?D545?5=<O < 74>>=O M?5>FD<G5E><E F5?5=. -?5<5=FO 
F5?< < 5U F>?>?>7<G5E><5 ?4D4<5FDO. �4>>=O �<4. 

2 

2. 

�4>>=O �<DE7>D4. �4?4=E <>M=>EF5=.  
�5F>4O 4=4?<74 D4EG5F4 ?<=5==OE F5?5= ?>EF>O==>7> F>>4. 
�5F>4 74>>=>6 �<DE7>D4. �>F5=F<4?L=4O 4<47D4<<4. �5F>4 >>=FGD=OE 
F>>>6. �5F>4 G7?>6OE =4?DO65=<= 

2 

3. 
�=4?<7 M?5>FD<G5E><E ?D>F5EE>6 6 F5?OE E D57<EF<6=O<, <=4G>F<6=O< < 5<-
>>EF=O< M?5<5=F4<<. �>M=>EF< F5?5= E<=GE><44?L=>7> F>>4.  

2 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

4. 
'EFD>=EF6> < ?D<=F<? D45>FO FD4=ED>D<4F>D4.  
�=4?<7 M?5>FD><47=<F=OE ?D>F5EE>6 6 FD4=ED>D<4F>D5 

2 

5. 

-?5>FD<G5E><5 <4L<=O. �4L<=O ?>EF>O==>7> F>>4 (��&). $45>F4 ��& 6 
D56<<5 75=5D4F>D4 < 46<74F5?O.  
�E<=ED>==O5 46<74F5?< (��). 'EFD>=EF6> < ?D<=F<? 45=EF6<O FD5ED47=>-
7> ��. %<=ED>==O5 <4L<=O (%�). 'EFD>=EF6> %�. $45>F4 %� 6 D56<<5 

2 
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75=5D4F>D4 < 46<74F5?O 

$4745? 3.  �E=>6O 4=4?>7>6>= < F<DD>6>= M?5>FD>=<>< 

6. 

-?5>FD>==>->?F<G5E><5 GEFD>=EF64. -?5<5=FO D<7<>< ?>?G?D>6>4=<>>6. 
�EF>G=<>< 6F>D<G=>7> M?5>FD>?<F4=<O. �4=>?>?G?5D<>4=4O < 46GE?>?G?5D<-
>4=4O >4=>D47=4O < <=>7>D47=4O EE5<O 6O?DO<?5=<O. -?5>FD>==O5 GEFD>=-
EF64.  

1 

7. �=4?>7>6O5 ?D<5>DO. &<DD>6O5 <7<5D<F5?L=O5 ?D<5>DO.  1 
�E57> 12 

 
�4>G=4O D>D<4 >5GG5=<O 

7 

?/? 
&5<O ?5>F<= 

�>?-6>  

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 

1. 
�E=>6=O5 ?>=OF<O, >?D545?5=<O < 74>>=O M?5>FD<G5E><E F5?5=. -?5<5=FO 
F5?< < 5U F>?>?>7<G5E><5 ?4D4<5FDO. �4>>=O �<4. 

0,5 

2. 

�4>>=O �<DE7>D4. �4?4=E <>M=>EF5=.  
�5F>4O 4=4?<74 D4EG5F4 ?<=5==OE F5?5= ?>EF>O==>7> F>>4. 
�5F>4 74>>=>6 �<DE7>D4. �>F5=F<4?L=4O 4<47D4<<4. �5F>4 >>=FGD=OE 
F>>>6. �5F>4 G7?>6OE =4?DO65=<= 

1 

3. 
�=4?<7 M?5>FD<G5E><E ?D>F5EE>6 6 F5?OE E D57<EF<6=O<, <=4G>F<6=O< < 5<-
>>EF=O< M?5<5=F4<<. �>M=>EF< F5?5= E<=GE><44?L=>7> F>>4.  

0,5 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

4. 
'EFD>=EF6> < ?D<=F<? D45>FO FD4=ED>D<4F>D4.  
�=4?<7 M?5>FD><47=<F=OE ?D>F5EE>6 6 FD4=ED>D<4F>D5 

0,5 

5. 

-?5>FD<G5E><5 <4L<=O. �4L<=O ?>EF>O==>7> F>>4 (��&). $45>F4 ��& 6 
D56<<5 75=5D4F>D4 < 46<74F5?O.  
�E<=ED>==O5 46<74F5?< (��). 'EFD>=EF6> < ?D<=F<? 45=EF6<O FD5ED47=>-
7> ��. %<=ED>==O5 <4L<=O (%�). 'EFD>=EF6> %�. $45>F4 %� 6 D56<<5 
75=5D4F>D4 < 46<74F5?O 

0,5 

$4745? 3.  �E=>6O 4=4?>7>6>= < F<DD>6>= M?5>FD>=<>< 

6. 

-?5>FD>==>->?F<G5E><5 GEFD>=EF64. -?5<5=FO D<7<>< ?>?G?D>6>4=<>>6. 
�EF>G=<>< 6F>D<G=>7> M?5>FD>?<F4=<O. �4=>?>?G?5D<>4=4O < 46GE?>?G?5D<-
>4=4O >4=>D47=4O < <=>7>D47=4O EE5<O 6O?DO<?5=<O. -?5>FD>==O5 GEFD>=-
EF64.  

0,5 

7.  �=4?>7>6O5 ?D<5>DO. &<DD>6O5 <7<5D<F5?L=O5 ?D<5>DO.  0,5 
�E57> 6 

 

5.3 &5<4F<G5E><= ??4= ?D4>F<G5E><E 74=OF<= 

�G=4O D>D<4 >5GG5=<O 
7 

?/? 
&5<O 74=OF<= 

�>?-6> 

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 
1. $4EGUF F5?5= ?>EF>O==>7> F>>4. 2  
2. $4EGUF F5?5= >4=>D47=>7> E<=GE><44?L=>7> F>>4.  1 
3. $4EG5F FD5ED47=OE F5?5= 1 

$4745? 2. -?5>FD<G5E><5 <4L<=O  

4. 
�?D545?5=<5 ?4D4<5FD>6 46<74F5?O ?>EF>O==>7> F>>4 ?4D4??5?L=>7> 6>7-
5G645=<O E ?>EFD>5=<5< <5E4=<G5E><E E4D4>F5D<EF<> 

2 

$4745? 3. �E=>6O 4=4?>7>6>= < F<DD>6>= M?5>FD>=<>< 
5. �?D545?5=<5 ?4D4<5FD>6 >4=>D47=>7> ?>?G?D>6>4=<>>6>7> 6O?DO<<F5?O 2  
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�E57> 8 

 

�G=>-74>G=4O D>D<4 >5GG5=<O 
7 

?/? 
&5<O 74=OF<= 

�>?-6> 

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 
1. $4EGUF F5?5= ?>EF>O==>7> F>>4. 2 
2. $4EG5F FD5ED47=OE F5?5= 2 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

3. 
�?D545?5=<5 ?4D4<5FD>6 46<74F5?O ?>EF>O==>7> F>>4 ?4D4??5?L=>7> 
6>75G645=<O E ?>EFD>5=<5< <5E4=<G5E><E E4D4>F5D<EF<> 

2 

�E57> 6 

 

�4>G=4O D>D<4 >5GG5=<O 
7 

?/? 
&5<O 74=OF<= 

�>?-6> 

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 
1. $4EGUF F5?5= ?>EF>O==>7> F>>4. 1  
2. $4EG5F FD5ED47=OE F5?5= 1 

$4745? 2.   -?5>FD<G5E><5 <4L<=O 

3. 
�?D545?5=<5 ?4D4<5FD>6 46<74F5?O ?>EF>O==>7> F>>4 ?4D4??5?L=>7> 
6>75G645=<O E ?>EFD>5=<5< <5E4=<G5E><E E4D4>F5D<EF<> 

2 

�E57> 4  

 

&5<4F<G5E><= ??4= ?45>D4F>D=OE 74=OF<= 

�G=4O D>D<4 >5GG5=<O 
7 

?/? 
&5<O 74=OF<= 

�>? -6> 

G4E>6 

$4745? 1. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4  

1.  �EE?54>64=<5 ?<=5==OE M?5>FD<G5E><E F5?5= >4=>D47=>7> E<=GE><-
44?L=>7> F>>4 E <=4G>F<6=>-E6O74==O<< >4FGL>4<<.  

2 

2. �EE?54>64=<5 FDUED47=>= F5?< E >4=>D47=O<< ?D<U<=<>4<<, E>54<=U=-
=O<< FD5G7>?L=<>><.  

2 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

3. �EE?54>64=<5 >4=>D47=>7> FD4=ED>D<4F>D4.  1 
4. �EE?54>64=<5 E4D4>F5D<EF<> 4E<=ED>==>7> 46<74F5?O E >>D>F>>74<>=G-

FO< D>F>D><. 
1 

 $4745? 3.  �E=>6O 4=4?>7>6>= < F<DD>6>= M?5>FD>=<>< 
5. �EE?54>64=<5 EG5FG<>4 M?5>FD<G5E>>= M=5D7<<. �>7><5FDO. 2 

�E5

7> 

 8 

 
�G=>-74>G=4O D>D<4 >5GG5=<O 

7 

?/? 
&5<O 74=OF<= 

�>?-6> 

G4E>6 

$4745? 2. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 

1. �EE?54>64=<5 ?<=5==OE M?5>FD<G5E><E F5?5= >4=>D47=>7> E<=GE><-
44?L=>7> F>>4 E <=4G>F<6=>-E6O74==O<< >4FGL>4<<.  

2 

2. �EE?54>64=<5 FDUED47=>= F5?< E >4=>D47=O<< ?D<U<=<>4<<, E>54<-
=U==O<< FD5G7>?L=<>><.  

2 
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$4745? 2. -?5>FD<G5E><5 <4L<=O 

3. �EE?54>64=<5 >4=>D47=>7> FD4=ED>D<4F>D4.  1 
4. �EE?54>64=<5 E4D4>F5D<EF<> 4E<=ED>==>7> 46<74F5?O E >>D>F>>74<>=G-

FO< D>F>D><. 
1 

�E57>  6 

 
�4>G=4O D>D<4 >5GG5=<O 

7 

?/? 
&5<O 74=OF<= 

�>?-6> 

G4E>6 

$4745? 2. -?5>FD<G5E><5 F5?< ?5D5<5==>7> < ?>EF>O==>7> F>>4 

1. �EE?54>64=<5 ?<=5==OE M?5>FD<G5E><E F5?5= >4=>D47=>7> E<=GE><-

44?L=>7> F>>4 E <=4G>F<6=>-E6O74==O<< >4FGL>4<<.  

0,5 

2. �EE?54>64=<5 FDUED47=>= F5?< E >4=>D47=O<< ?D<U<=<>4<<, E>54<-

=U==O<< FD5G7>?L=<>><.  

0,5 

$4745? 2. -?5>FD<G5E><5 <4L<=O 

3. �EE?54>64=<5 >4=>D47=>7> FD4=ED>D<4F>D4.  0,5 

4. �EE?54>64=<5 E4D4>F5D<EF<> 4E<=ED>==>7> 46<74F5?O E >>D>F>>74<>=G-
FO< D>F>D><.  

0,5 

�E57>  2 

 

5.4 %>45D64=<5 D4745?>6 4<EF<??<=O 

7 

?/? 

�4<<5-

=>64=<5 

D4745?4 

%>45D64=<5 D4745?4 
�><?5F5=-

F<< 

1. 

-?5>FD<-
G5E><5 
F5?< ?5-
D5<5==>7> 
< ?>EF>-
O==>7> 
F>>4 

�E=>6=O5 ?>=OF<O, >?D545?5=<O < 74>>=O M?5>FD<G5-
E><E F5?5=. -?5<5=FO F5?< < 5U F>?>?>7<G5E><5 ?4D4-
<5FDO. �4>>=O �<4. �4>>=O �<DE7>D4. �4?4=E <>M=>-
EF5=. �5F>4O 4=4?<74 ?<=5==OE F5?5= ?>EF>O==>7> 
F>>4. �5F>4 74>>=>6 �<DE7>D4. �>F5=F<4?L=4O 4<4-
7D4<<4. �5F>4 >>=FGD=OE F>>>6. �5F>4 G7?>6OE 
=4?DO65=<= 

��-1���-5 

��-2���-5 

��-3���-5 

  

�E=>6=O5 ?4D4<5FDO E<=GE><44?L=> <7<5=ONM<EEO 65-
?<G<=. �D54EF46?5=<5 (6 6<45 6D5<5==OE 4<47D4<<, 65>-
F>D>6, >><??5>E=OE G<E5?) E<=GE><44?L=OE DG=>F<=. 
%D54=55 < 45=EF6GNM55 7=4G5=<5 E<=GE><44?L=OE 65?<-
G<=. �=4?<7 M?5>FD<G5E><E ?D>F5EE>6 6 F5?OE E D57<-
EF<6=O<, <=4G>F<6=O< < 5<>>EF=O< M?5<5=F4<<. &D5-
G7>?L=<>< E>?D>F<6?5=<= < ?D>6>4<<>EF5= F5?<. �>M-
=>EF< F5?5= E<=GE><44?L=>7> F>>4. �>MDD<F<5=F <>M-
=>EF< F5?<. $57>=4=E=O5 O6?5=<O 6 F5?OE E<=GE><44?L-
=>7> F>>4. 

 

  

%?>E>5O <7>5D465=<O < E>54<=5=<O D47 FD5ED47=>7> 
<EF>G=<>4. $47=O5 < ?<=5==O5 =4?DO65=<O. &D5E?D>-
6>4=O5 < G5FOD5E?D>6>4=O5 EE5<O E>54<=5=<O ?D<5<-
=<>>6 76574>=. &D5E?D>6>4=O5 EE5<O E>54<=5=<O ?D<-
5<=<>>6 FD5G7>?L=<>><. �>M=>EF< FD5ED47=>= F5?<. 

 

2. 

-?5>FD<-
G5E><5 
<4L<=O 

'EFD>=EF6> < ?D<=F<? D45>FO FD4=ED>D<4F>D4. �=4?<7 
M?5>FD><47=<F=OE ?D>F5EE>6 6 FD4=ED>D<4F>D5. %E5<4 
74<5M5=<O FD4=ED>D<4F>D4 

��-1���-5 

��-2���-5 

��-3���-5 

 



12 

  

-?5>FD<G5E><5 <4L<=O. �4L<=O ?>EF>O==>7> F>>4 
(��&). 'EFD>=EF6> < ?D<=F<? 45=EF6<O ��&. %E5<O 
6>75G645=<O ��&. $45>F4 ��& 6 D56<<5 75=5D4F>D4 < 
46<74F5?O. �E<=ED>==O5 46<74F5?< (��). 'EFD>=EF6> < 
?D<=F<? 45=EF6<O FD5ED47=>7> ��. �5E4=<G5E><5 < 
D45>G<5 E4D4>F5D<EF<>< ��. �GE> < D57G?<D>64=<5 
E>>D>EF< ��. %<=ED>==O5 <4L<=O (%�). 'EFD>=EF6> 
%�. $45>F4 %� 6 D56<<5 75=5D4F>D4 < 46<74F5?O. 

 

3. 

�E=>6O 
4=4?>7>-
6>= < 
F<DD>6>= 
M?5>-
FD>=<>< 

-?5>FD>==>->?F<G5E><5 GEFD>=EF64. -?5<5=FO D<7<>< 
?>?G?D>6>4=<>>6. �EF>G=<>< 6F>D<G=>7> M?5>-
FD>?<F4=<O. �4=>?>?G?5D<>4=4O < 46GE?>?G?5D<>4=4O 
>4=>D47=4O < <=>7>D47=4O EE5<O 6O?DO<?5=<O.  -?5>-
FD>==O5 GEFD>=EF64. 'E<?<F5?< M?5>FD<G5E><E E<7=4-
?>6. �?4EE<D<>4F<O < E4D4>F5D<EF<>< 

��-1���-5 

��-2���-5 

��-3���-5 

 

  
�E=>6O ?D<>?44=>= <5FD>?>7<<. �=4?>7>6O5 ?D<5>DO. 
&<DD>6O5 <7<5D<F5?L=O5 ?D<5>DO. -?5>FD<G5E><5 
<7<5D5=<O M?5>FD<G5E><E < =5M?5>FD<G5E><E 65?<G<=. 

 

 
6. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 E4<>EF>OF5?L=>= D45>FO 

&5<4F<G5E><= ??4= E4<>EF>OF5?L=>= D45>FO 
7 
?/? 

&5<4F<>4 E4<>EF>OF5?L=>=  
D45>FO 

�>?<G5-
EF6> G4-

E>6 

$5>><5=4G5<O5 <EF>G=<>< <=D>D-
<4F<< (7 <EF>G=<>4) 

>E=>6-
=4O (<7 

?.8 
$��) 

4>?>?=<-
F5?L=4O 
(<7 ?.8 
$��) 

(<=F5D=5F-
D5EGDEO) (<7 

?.9 $��) 

1. &>> ?D>6>4<<>EF<, ?5D5=>E4, 
E<5M5=<O < ?>?=>7>. 

 2/2/2* 1-10 1-10 1-5 

2.  «�4EE<6=O= M?5<5=F M?5>FD<G5-
E>>= F5?<»; 
«�>F<6=O= M?5<5=F M?5>FD<G5-
E>>= F5?<». 

2/2/2 1-10 1-10 1-5 

3. $54>F<6=4O < ?>?=4O <>M=>EFL 
F5?< 

2/2/2 1-10 1-10 1-5 

4. �47=4G5=<5 =5=FD4?L=>7> ?D>6>-
44 6 FDUED47=>= E<EF5<5 =4?DO-
65=<O. 

2/2/2 1-10 1-10 1-5 

5. �E=>6=O5 D>D<G?O, E6O7O64N-
M<5 D47=O5 < ?<=5==O5 =4?DO-
65=<O < F>>< ?D< E>54<=5=<< D47 
?D<U<=<>4 FD5G7>?L=<>>< 6 E?G-
G45: 
4) E<<<5FD<G=>= =47DG7><; 
5) =5E<<<5FD<G=>= =47DG7><. 
 

2/2/2 1-10 1-10 1-5 

6. -=5D7<O < <5E4=<G5E><5 E<?O 6 
M?5>FD>F5E=<G5E><E E<EF5<4E. 
-=5D7<O <47=<F=>7> ?>?O, >4-
FGL><, E<?4 FO65EF<. 

2/2/2 1-10 1-10 1-5 
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7. $45>F4 < M>E??G4F4F<>==O5 E6>=-
EF64 46<74F5?5= < 75=5D4F>D>6. 
�E>55==>EF< �&� <4?>= <>M=>-
EF<. 

2/2/2 1-10 1-10 1-5 

8. �E>55==>EF< �&� <4?>= <>M=>-
EF<.  �<>D><4L<=O. 

2/2/2 1-10 1-10 1-5 

9. �EF>G=<>< 6F>D<G=>7> M?5>FD>-
?<F4=<O. 

2/2/2 1-10 1-10 1-5 

10. �=4?>7>6O5 < F<DD>6O5 M?5>-
FD><7<5D<F5?L=O5 ?D<5>DO  

2/2/2 1-10 1-10 1-5 

11. �>47>F>6>4 > ?D4>F<G5E><< 74=O-
F<O< 

10/20/10 1-10 1-10 1-5 

12. �>47>F>6>4 > F5>GM5<G >>=FD>-
?N 

10/22/18 1-10 1-10 1-5 

 �E57> 40/48/62    

2/2/2*- >>?<G5EF6> G4E>6 E4<>EF>OF5?L=>= D45>FO ?> >G=>= D>D<5, ?> >G-
=>-74>G=>= D>D<5, ?> 74>G=>= D>D<5 >5GG5=<O. 

 
'G55=>-<5F>4<G5E><5 <4F5D<4?O 4?O E4<>EF>OF5?L=>= D45>FO: 

 

1. �5?>6  �.�. -?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><. / �.�. �5?>6, 
..%. �>?>>6.4 %�5.: �4=L, 2012. 4 432 E 

http://e.lanbook.com/book/3553 
2. �OG>>6 ..�. �6545=<5 6 F5>D5F<G5E>GN M?5>FD>F5E=<>G. �GDE ?>4-

7>F>6>< 54>4?46D>6. / ..�. �OG>>6, �.�. �>?>F=<F><=, �.�. %>?>6L564, -.�. 
'5D=OL56.4 %�5.: �4=L, 2016. 4 288 E. http://e.lanbook.com/book/89931 

3. �>?>>6, �.%. -?5>FD>=<>4 < M?5>FD>>5>DG4>64=<5 FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >5>DG4>64=<O : GG55=<> 4?O EFG4. 
GGD564. 6OEL. ?D>D. >5D47>6. $5>. '�� ?> >5D47>64=<N 6 >5?. FD4=E?. <4L<= / 
�. %. �>?>>6. - 2-5 <74., ?5D5D45. < 4>?. - �>E>64: �74. F5=FD "�>445<<O", 2013. 
- 384E.  

4. �64=>6, �.�. -?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><. / �.�. �64=>6, 
�.�. %>?>6L56, �./. $D>?>6.4 %�5.: �4=L, 2016. 4 736 E. 
http://e.lanbook.com/book/71749 

 
�5F>4<G5E><5 D5>><5=44F<< EFG45=FG > E4<>EF>OF5?L=>= D45>F5 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6, ?D54GE<>FD5==4O GG55=O< ??4=>< 
6 >5N5<5 =5 <5=55 50-70% >5M57> >>?<G5EF64 G4E>6, E>>F65FEF6G5F 5>?55 7?G-
5>>><G GE6>5=<N <7GG45<>7> >GDE4, D>D<<DG5F =46O>< <EE?54>64F5?LE>>= D4-
5>FO < >D<5=F<DG5F EFG45=F>6 =4 G<5=<5 ?D<<5=OFL F5>D5F<G5E><5 7=4=<O =4 
?D4>F<>5. 

%4<>EF>OF5?L=4O D45>F4 =>E<F E<EF5<4F<G5E><= E4D4>F5D.   
$57G?LF4FO E4<>EF>OF5?L=>= D45>FO >>=FD>?<DGNFEO ?D5?>4464F5?5< < 

GG<FO64NFEO ?D< 4FF5EF4F<< EFG45=F4. �D< MF>< ?D>6>4OFEO: F5EF<D>64=<5, 
M>E?D5EE->?D>E =4 ?D4>F<G5E><E 74=OF<OE, 74E?GL<64=<5 D4745?>6 6O?>?=5=<O 
>GDE>6>7> ?D>5>F < F.4. 
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�444=<O 4?O E4<>EF>OF5?L=>= D45>FO E>EF46?ONFEO ?> D4745?4< < F5<4<, 
?> >>F>DO< =5 ?D54GE<>FD5=O 4G4<F>D=O5 74=OF<O, ?<5> FD55G5FEO 4>?>?=<-
F5?L=> ?D>D45>F4FL < ?D>4=4?<7<D>64FL D4EE<4FD<645<O= ?D5?>4464F5?5< <4-
F5D<4? 6 >5N5<5 74??4=<D>64==OE G4E>6. 

�?O ?>47>F>6>< > 74=OF<O< < 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO, EFG-
45=F4< D5>><5=4GNFEO GG55=>-<5F>4<G5E><5 <744=<O, 4 F4>65 <5F>4<G5E><5 
<4F5D<4?O, 6O?GM5==O5 >4D54D>= E6><<< E<?4<< < ?D54>EF46?O5<O5 EFG45=-
F4< 6> 6D5<O 74=OF<=: 

- =47?O4=O5 ?>E>5<O (??4>4FO); 
- 7?>EE4D<= - E?>64DL F5D<<=>6 ?> F5<4F<>5. 
%4<>EF>OF5?L=4O D45>F4 E >=<7>=. � =4L5 6D5<O >=<74 EGM5EF6G5F 6 

46GE D>D<4E: FD44<F<>==>= < M?5>FD>==>=. � <=F5D=5F5 EGM5EF6GNF F5?O5 
5<5?<>F5><, D4E?>?474NM<5 45EOF>4<< FOEOG M?5>FD>==OE F5>EF>6. %57>4=O 6 
>5M5EF65 ?D5>5?4445F <=5=<5, GF> ?5G4F=4O >=<74 < 55 >><?LNF5D=O= F5>EF 
4>?>?=ONF 4DG7 4DG74. �E?>?L7GO M?5>FD>==O= 64D<4=F >=<7< 7=4G<F5?L=> 
5OEFD55 ?>47>F>6<FL =4 57> 5475 >>=FD>?L=GN D45>FG, ?>4>7=4FL F5>EF E6>5= 
D45>FO ?>4 FD55G5<O= GG55=O< 7444=<5< >5N5<. �5G4F=O5 >=<7< 7>D474> ?57G5 
< G4>5=55 G<F4FL.  

$45>F4 E >=<7>=, EFG45=FO EF4?><64NFEO E DO4>< ?D>5?5<. �4=4 <7 =<E 3 
>4>4O >=<74 ?GGL5. &5?5E>>5D47=> 6 ?5D6GN >G5D54L >5D4F<FLEO > ?<F5D4FGD5, 
D5>><5=4>64==>= ?D5?>4464F5?5<. &5?5E>>5D47=> ?D>G<F4FL 4==>F4F<N > >=<-
75 =4 55 EFD4=<F4E, 6 >>F>D>= G>474=>, >><G < 4?O >4><E F5?5= >=4 <>65F 5OFL 
?>?57=4. 

�DG74O ?D>5?5<4 3 >4> MDD5>F<6=> GE6><FL <4F5D<4? >=<7<. �4G5EF6> 
GE6>5=<O GG55=>7> <4F5D<4?4 EGM5EF65==> 746<EOF >F <4=5DO ?D>GF5=<O >=<7<. 
�>6=> 6O45?<FL ?OFL >E=>6=OE ?D<5<>6 D45>FO E ?<F5D4FGD>=: 

'F5=<5-?D>E<>FD <E?>?L7G5FEO 4?O ?D5464D<F5?L=>7> >7=4>><?5=<O E 
>=<7>=, >F5=>< 55 F5==>EF<. �= ?D54?>?4745F >7=4>><?5=<5 E 4==>F4F<5=, ?D5-
4<E?>6<5<, >7?46?5=<5<, 74>?NG5=<5< >=<7<, ?><E> ?> >7?46?5=<N =4<5>?55 
646=OE <OE?5= < 6O6>4>6 46F>D4 ?D><76545=<O. 

�O5>D>G=>5 GF5=<5 ?D54?>?4745F <75<D4F5?L=>5 GF5=<5 >F45?L=OE D47-
45?>6 F5>EF4. -F>F <5F>4 <E?>?L7G5FEO, >4> ?D46<?>, ?>E?5 ?D5464D<F5?L=>7> 
?D>E<>FD4 >=<7<, ?D< 55 6F>D<G=>< GF5=<<. 

%>4=<D>64=<5 ?D54EF46?O5F 5OEFDO= ?D>E<>FD >=<7< E F5?LN ?><E>4 D4-
<<?<<, D4>F4, >F5=>< < 4D.  

'7?G5?5==>5 GF5=<5 ?D54?>?4745F >5D4M5=<5 6=<<4=<O =4 45F4?< E>45D-
64=<O F5>EF4, 57> 4=4?<7 < >F5=>G. %>>D>EFL ?>4>5=>7> 6<44 GF5=<O E>EF46?O5F 
>D<5=F<D>6>G=> 4> 7-10 EFD4=<F 6 G4E. �=4 <>65F 5OFL < 6OL5, 5E?< G<F4F5?L 
G65 >5?4445F >?D545?5==O< 7=4=<5< ?> F5<5 >=<7< <?< EF4FL<. 

'7?G5?5==>5 GF5=<5 ?<F5D4FGDO ?D54?>?4745F:  
÷ %FD5<?5=<5 > ?>=<<4=<N ?D>G<F4==>7>. �57 ?>=<<4=<O E<OE?4, ?D>-

G<F4==>7> <=D>D<4F<N 55 >G5=L FDG4=> 74?><=<FL. 
÷ �54G<O64=<5 <7?>65==>= 6 >=<75 <=D>D<4F<<. &>744 E>5EF65==O5 

<OE?<, 6>7=<>L<5 6 E>45 7=4>><EF64 E GG6<<< D45>F4<<, ?>E?G64F >E=>6=>= 
4?O ?>?GG5=<O =>6>7> 7=4=<O. 
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÷ �OE?5==>5 6O45?5=<5 >?NG56OE E?>6, <45= D474D>5?5=<5 E>45D64=<O 
F5>EF4 =4 ?>7<G5E><5 5?>><, E>EF46?5=<5 ??4=4 ?D>G<F4==>7>. �E?< EFG45=F 
<<55F 45?> E ?<G=>= >=<7>=, F> >?NG56O5 E?>64 < <OE?< <>6=> ?>4G5D>=GFL 
>4D4=44L><. 

÷ %>EF46?5=<5 >>=E?5>F4 <7GG5==>7> <4F5D<4?4. �E?< EF4FLO <?< D4745? 
>=<7< ?> >5N5<G =55>?LL>=, F> F5?5E>>5D47=> ?D<EFG?<FL > >>=E?5>F<D>64-
=<N, ?D>G<F46 <E ?>?=>EFLN. � 4DG7<E E?GG4OE 65?4F5?L=> ?D>G<F4FL 7-10 
EFD4=<F. 
 

7. $>=4O >F5=>G=OE ED54EF6 

$>=4 >F5=>G=OE <4F5D<4?>6 (ED54EF6) 4?O ?D>6545=<O F5>GM5=, ?D><5-
6GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?> 4<EF<??<=5 (<>4G?N) <?< ?D4>F<>5, 
6E>4OM<= 6 E>EF46 E>>F65FEF65==> D45>G5= ?D>7D4<<O 4<EF<??<=O (<>4G?O) 
<?< ?D>7D4<<O ?D4>F<><, 6>?NG45F 6 E55O: 

1. ?5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5EE5 
>E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O; 

2. >?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47?<G-
=OE MF4?4E <E D>D<<D>64=<O, >?<E4=<5 L>4?O >F5=<64=<O; 

3. F<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O 
>F5=>< 7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E 
MF4?O D>D<<D>64=<O >><?5F5=F<=; 

4. <5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4-
=<=, G<5=<=, =46O>>6, E4D4>F5D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<=. 

�?O >464>7> D57G?LF4F4 >5GG5=<O ?> 4<EF<??<=5 >D74=<74F<O >?D545?O5F 
?>>474F5?< < >D<F5D<< >F5=<64=<O ED>D<<D>64==>EF< >><?5F5=F<= =4 D47?<G-
=OE MF4?4E <E D>D<<D>64=<O, L>4?O < ?D>F54GDO >F5=<64=<O. 
 

7.1 �5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5E-

E5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O 
%5<5EFD 

(>GDE) 

�<EF<??<=O /M?5<5=FO ?D>7D4<<O (?D4>F<><, ���), GG4EF6GNM<5 6 D>D-

<<D>64=<< >><?5F5=F<< 

���-5  %?>E>55= ?D<=<<4FL >5>E=>64==O5 F5E=<G5E><5 D5L5=<O, 6O5<D4FL MDD5>F<6=O5 
< 557>?4E=O5 F5E=<G5E><5 ED54EF64 < F5E=>?>7<< ?D< D5L5=<< 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< 
��-1���-5 %>EF46?O5F EE5<G < >?D545?O5F >><?>=5=FO F5E=<G5E>>= E<EF5<O 4?O D5L5=<O 
7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

4(4) �5M4O M?5>FD>F5E=<>4 < M?5>FD>=<>4 

5(4) �5F4?< <4L<= < >E=>6O >>=EFDG<D>64=<O 
2(1) $476<F<5 < E>6D5<5==>5 E>EF>O=<5 <<D>6>= 46F><>5<?<74F<< 
8(5) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 
��-2���-5 �D>6>4<F D4EG5F ?4D4<5FD4 M?5<5=F4 F5E=<G5E>>= E<EF5<O 

4(4) �5M4O M?5>FD>F5E=<>4 < M?5>FD>=<>4 
5(4) �5F4?< <4L<= < >E=>6O >>=EFDG<D>64=<O 
8(5) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 
��-3���-5 �EGM5EF6?O5F ?>45>D F<?>6OE M?5<5=F>6 F5E=<G5E>>= E<EF5<O 
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4(4) �5M4O M?5>FD>F5E=<>4 < M?5>FD>=<>4 
5(4) �5F4?< <4L<= < >E=>6O >>=EFDG<D>64=<O 
8(5) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

 
7.2 �?<E4=<5 ?>>474F5?5= <  >D<F5D<56 >F5=<64=<O >><?5F5=F<= 

�>>474F5?< �D<F5D<< >F5=<64=<O 

,>4?4 ?> FD44<F<>==>= ?OF<54?L=>= E<EF5<5 

4>?>D>7>6O= 

(«=5G4>6?5-

F6>D<F5?L-

=>») 

�>D>7>6O= 

(«G4>6?5F6>D<-

F5?L=>») 

�D>46<=GFO= 

(«E>D>L>») 

�OE>><= 

(«>F?<G=>») 

���-5 %?>E>55= ?D<=<<4FL >5>E=>64==O5 F5E=<G5E><5 D5L5=<O, 6O5<D4FL MDD5>F<6=O5 < 
557>?4E=O5 F5E=<G5E><5 ED54EF64 < F5E=>?>7<< ?D< D5L5=<< 7444G ?D>D5EE<>=4?L=>= 45O-
F5?L=>EF<; 
��-1���-5 %>EF46?O5F EE5<G < >?D545?O5F >><?>=5=FO F5E=<G5E>>= E<EF5<O 4?O D5L5=<O 74-
44G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
�=4=<O �FEGFEF6<5 

<?< =4?<G<5 
DD47<5=F4D-
=OE 7=4=<=, 
?D54GE<>F-
D5==OE 44=-
=>= >><?5-
F5=F<5= 

�=45F $<7<G5E><5 
>E=>6O O6?5=<= 6 
M?5>FD<G5E><E F5-
?OE, 74>>=O M?5>-
FD>F5E=<><, <5F>-
4O 4=4?<74 M?5>-
FD<G5E><E < <47-
=<F=OE F5?5=, 
?D<=F<?O D45>FO 
>E=>6=OE M?5>FD<-
G5E><E <4L<=, <E 
D45>G<5 < ?GE>>6O5 
E4D4>F5D<EF<><, 
M?5<5=F=GN 547G 
E>6D5<5==OE M?5>-
FD>==OE GEFD>=EF6 
(?>?G?D>6>4=<>>-
6OE 4<>4>6, FD4=-
7<EF>D>6 < <<>D>-
EE5<), ?4D4<5FDO 
E>6D5<5==OE M?5>-
FD>==OE GEFD>=EF6 
E EGM5EF65==O<< 
>L<5>4<< 

�=45F $<7<G5E><5 
>E=>6O O6?5=<= 6 
M?5>FD<G5E><E 
F5?OE, 74>>=O 
M?5>FD>F5E=<><, 
<5F>4O 4=4?<74 
M?5>FD<G5E><E < 
<47=<F=OE F5?5=, 
?D<=F<?O D45>FO 
>E=>6=OE M?5>-
FD<G5E><E <4L<=, 
<E D45>G<5 < ?GE-
>>6O5 E4D4>F5D<-
EF<><, M?5<5=F-
=GN 547G E>6D5-
<5==OE M?5>FD>=-
=OE GEFD>=EF6 
(?>?G?D>6>4=<>>-
6OE 4<>4>6, FD4=-
7<EF>D>6 < <<>D>-
EE5<), ?4D4<5FDO 
E>6D5<5==OE 
M?5>FD>==OE 
GEFD>=EF6 E =5EG-
M5EF65==O<< 
>L<5>4<< 

�=45F $<7<G5E><5 
>E=>6O O6?5=<= 6 
M?5>FD<G5E><E 
F5?OE, 74>>=O 
M?5>FD>F5E=<><, 
<5F>4O 4=4?<74 
M?5>FD<G5E><E < 
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D.  4=F<M?5>FD>= 
E.  =5=FD4?L=O= 
 
12.  'G4EF>> F5?< MF>&? 
A.  G4EFL F5?< <564G 46G<O G7?4<<; 
B.  74<>=GF4O G4EFL F5?<; 
C.  7D4D<G5E>>5 <7>5D465=<5 M?5<5=F>6; 
D.  G4EFL F5?< <564G 46G<O F>G>4<<; 
E.  M?5<5=F M?5>FD<G5E>>= F5?<, ?D54=47=4G5==O= 4?O <E?>?L7>64=<5 M?5>FD<-
G5E>>7> E>?D>F<6?5=<O. 
 
13.  � ?D<5>D5 4?O 6O6<74=<O ?> 45D56G =4?DO65=<5 ?>=<645FEO E 220 � 4> 11 
�. � ?4E?>DF5 FD4=ED>D<4F>D4 G>474=>: «�>FD55?O5<4O <>M=>EFL 3 55 �F, ��� 
3 0,8». �?D545?<F5 E<?G F>>4, ?D>F5>4NM57> G5D57 ?5D6<G=GN < 6F>D<G=GN >5-
<>F>< FD4=ED>D<4F>D4. 
A.   
B.   
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C.   
D.   
E.   
 
14.  �D5>5D47GNF M=5D7<N F>??<64 6 M?5>FD<G5E>GN M=5D7<N. 
A.  �F><=O5 M?5>FD>EF4=F<<. 
B.  &5??>6O5 M?5>FD>EF4=F<< 
C.  �5E4=<G5E><5 M?5>FD>EF4=F<< 
D.  �<4D>M?5>FD>EF4=F<< 
E.  �5FD>M?5>FD>EF4=F<<. 
 
15.  $5>EF4F ?D<<5=ONF 4?O D57G?<D>64=<O 6 F5?<& 
A.  =4?DO65=<O 
B.  E<?O F>>4 
C.  =4?DO65=<O < E<?O F>>4 
D.  E>?D>F<6?5=<O 
E.  <>M=>EF< 
 
 
16.  'EFD>=EF6>, E>EF>OM55 <7 >4FGL>< < 65?57=>7> E5D45G=<>4 6=GFD< 55. 
 
A.  FD4=ED>D<4F>D 
B.  54F4D5O 
C.  4>>G<G?OF>D 
D.  D5>EF4F 
E.  M?5>FD><47=<F 
 
17.  �<?>?L 3 MF> 
A.  464 D47=><<5==OE M?5>FD<G5E><E 74DO44, D4E?>?>65==OE =4 =55>?LL>< 
D4EEF>O=<< 4DG7 >F 4DG74. 
B.  45E>?NF=4O 4<M?5>FD<G5E>4O ?D>=<F45<>EFL 64>GG<4. 
C.  65?<G<=4, D46=4O >F=>L5=<N 74DO44 >4=>= <7 >5>?44>> >>=45=E4F>D4 > 
=4?DO65=<N <564G =<<<. 
D.  6OEFD4<64=<5 4<?>?5= 64>?L E<?>6OE ?<=<= M?5>FD<G5E>>7> ?>?O. 
E.  GEFD>=EF6>, E>EF>OM55 <7 46GE ?D>6>4=<>>6 ?N5>= D>D<O, D4745?5==OE 4<-
M?5>FD<>><. 
 
18.  �4=4<F5 =565D=>5 E>>F=>L5=<5: 
A.  1 �< = 1 � / 1 � 
B.  1 � = 1 �6 / 1 �?  
C.  1 �? = 1 � * 1 E 
 
D.  1 � = 1 �< / 1 � 
E.  1� = �6/ E 
19.  �D< ?4D4??5?L=>< E>54<=5=<< >>=45=E4F>D&&=const 
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A.  =4?DO65=<5 
B.  74DO4 
C.  U<>>EFL 
D.  E>?D>F<6?5=<5 
E.  E<?O F>>4 
 
20.  �D4M4NM4OEO G4EFL M?5>FD>75=5D4F>D4. 
A.  EF4F>D 
B.  D>F>D 
C.  FD4=ED>D<4F>D 
D.  >><<GF4F>D 
E.  >4FGL>4 
 
21.  � F5?L E =4?DO65=<5< 250 � 6>?NG<?< ?>E?54>64F5?L=> 465 ?4<?O, D4E-
EG<F4==O5 =4 MF> 65 =4?DO65=<5. �4=4 ?4<?4 <>M=>EFLN 500 �F, 4 4DG74O 
<>M=>EFLN 25 �F. �?D545?<F5 E>?D>F<6?5=<5 F5?<. 
A.  2625 �<. 
B.  2045 �<. 
C.  260 �<. 
D.  238 �<. 
E.  450 �<. 
 
22.  &D4=ED>D<4F>D F>>4 MF>& 
A.  FD4=ED>D<4F>D, ?D54=47=4G5==O= 4?O ?D5>5D47>64=<O <<?G?LE=OE E<7=4-
?>6 E 4?<F5?L=>EFLN <<?G?LE4 4> 45EOF>>6 <<>D>E5>G=4 E <<=<<4?L=O< <E>4-
65=<5< D>D<O <<?G?LE4. 
B.  FD4=ED>D<4F>D, ?<F4NM<=EO >F <EF>G=<>4 =4?DO65=<O. 
C.  64D<4=F FD4=ED>D<4F>D4, ?D54=47=4G5==O= 4?O ?D5>5D47>64=<O M?5>FD<G5-
E>>= M=5D7<< 6 M?5>FD<G5E><E E5FOE < 6 GEF4=>6>4E, ?D54=47=4G5==OE 4?O ?D<-
U<4 < <E?>?L7>64=<O M?5>FD<G5E>>= M=5D7<<. 
D.  FD4=ED>D<4F>D, ?<F4NM<=EO >F <EF>G=<>4 F>>4. 
E.  FD4=ED>D<4F>D, ?5D6<G=4O >5<>F>4 >>F>D>7> M?5>FD<G5E>< =5 E6O74=4 E> 
6F>D<G=O<< >5<>F>4<<. 
 
23.  �4>>= 65?<G<=>= O6?O5FEO <47=<F=O= ?>F>> $? 
A.  E>4?OD=>= 
B.  65>F>D=>= 
C.  <5E4=<G5E><= 
D.  >F65FO �, � 
E.  ?5D?5=4<>G?OD=O= 
 
24.  %>6>>G?=>EFL 6<F>>6, >5D47GNM<E M?5>FD<G5E>GN F5?L, 6 >>F>D>= EG<<<-
DGNFEO -�%, =4654U==O5 6 6<F>4E. 
A.  <47=<F=4O E<EF5<4 
B.  ??>E>4O <47=<F=4O E<EF5<4 
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C.  >5<>F>4 
D.  <7>?OF<O 
E.  =5F ?D46<?L=>7> >F65F4 
 
25.  �5<?O < ?D>6>4OM<5 E?>< 4F<>ED5DO >5D47G5F E6>5>5D47=O= >>=45=E4F>D. 
�45?N45=<O<< GEF4=>6?5=>, GF> =4?DO65==>EFL M?5>FD<G5E>>7> ?>?O �5<?< 
65?<7< 55 ?>65DE=>EF< 6 ED54=5< D46=4 100 �/<. �4=4<F5 M?5>FD<G5E><= 74DO4, 
EG<F4O, GF> >= D46=><5D=> D4E?D545?5= ?> 6E5= 75<=>= ?>65DE=>EF<. 
A.  4,2;  �? 
B.  4,1;  �? 
C.  4;  �? 
D.  4,5;  �? 
E.  4,6 ;  �? 
 
2-64D<4=F 

 
1.  'F> F4>>5 M?5>FD<G5E>4O F5?L? 
A.  MF> GEFD>=EF6> 4?O <7<5D5=<O -�%. 
B.  7D4D<G5E>>5 <7>5D465=<5 M?5>FD<G5E>>= F5?<, ?>>47O64NM55 ?>DO4>> < 
E4D4>F5D E>54<=5=<5 M?5<5=F>6. 
C.  G?>DO4>G5==>5 46<65=<5 74DO65==OE G4EF<F 6 ?D>6>4=<>5. 
D.  E>6>>G?=>EFL GEFD>=EF6, ?D54=47=4G5==OE 4?O ?D>E>645=<O M?5>FD<G5E>>7> 
F>>4. 
E.  E>6>>G?=>EFL GEFD>=EF6 ?D54=47=4G5==OE 4?O <E?>?L7>64=<O M?5>FD<G5E>>-
7> E>?D>F<6?5=<O. 
 
2.  -�% <EF>G=<>4 6OD4645FEO D>D<G?>=: 
A.  I= Q/t 
B.  E= Au/q 
C.  W=q*E*d 
D.   
E.  U=A/q 
 
3.  �?5D6O5 O6?5=<O 6 M?5>FD<G5E><E F5?OE 7?G5>>> < FM4F5?L=> <7GG<?: 
A.  �4=>? $4D445= 
B.  �65<E �4>E65?? 
C.  �5>D7 �< 
D.  �<E4<? �><>=>E>6 
E.  ,4D?L �G?>= 
 

4.   �D<5>D 
A.  4<?5D<5FD 
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B.  D5>EF4F 
C.  D57<EF>D 
D.  >?NG 
E.  ?>F5=F<><5FD 
 
5.  �<>>EFL >>=45=E4F>D4 %=10 <>$, =4?DO65=<5 =4 >5>?44>4E U=220�. �?D5-
45?<FL 74DO4 >>=45=E4F>D4. 
A.  2.2 �?. 
B.  2200 �?. 
C.  0,045 �?. 
D.  450 �?. 
E.   
 
6.  -F> 6 ?D>EF5=L5< E?GG45 D5>EF4FO, 6>?NG45<O5 4?O D57G?<D>64=<O =4?DO-
65=<O. 
A.  ?>F5=F<><5FDO 
B.  D57<EF>DO 
C.  D5>EF4FO 
D.  >?NG 
E.  EGUFG<> 
 
7.  '4EFL F5?< <564G 46G<O F>G>4<< =47O645FEO: 
A.  >>=FGD 
B.  GG4EF>> F5?< 
C.  65F6L 
D.  M?5>FD<G5E>4O F5?L 
E.  G75? 
 
8.  %>?D>F<6?5=<5 ?>E?54>64F5?L=>= F5?<: 
A.   

B.   

C.   
D.  . 
E.   
 
9.  %<?4 F>>4 6 ?D>6>4=<>5& 
A.  ?DO<> ?D>?>DF<>=4?L=> =4?DO65=<N =4 >>=F4E ?D>6>4=<>4 
B.  ?DO<> ?D>?>DF<>=4?L=> =4?DO65=<N =4 >>=F4E ?D>6>4=<>4 < 57> E>?D>F<6-
?5=<N 
C.  >5D4F=> ?D>?>DF<>=4?L=> =4?DO65=<N =4 >>=F4E ?D>6>4=<>4 
D.  >5D4F=> ?D>?>DF<>=4?L=> =4?DO65=<N =4 >>=F4E ?D>6>4=<>4 < 57> E>?D>-
F<6?5=<N 
E.  M?5>FD<G5E><< 74DO4>< < ?>?5D5G=>5 E5G5=<5 ?D>6>4=<>4 
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10.  �4>GN M=5D7<N ?>FD55?O5F <7 E5F< M?5>FD<G5E>4O ?4<?4 74 2 G, 5E?< 55 E>-
?D>F<6?5=<5 440 �<, 4 =4?DO65=<5 E5F< 220 �? 
A.   
B.  240 �F  
C.   
D.  375 �F  
E.  180 �F  
 
11.  1 7�F = 
A.  1024 �F 
B.  1000000000 �F 
C.  1000000 �F 
D.   
E.  100 �F 
 
12.  'F> F4>>5 ?>F5=F<4? F>G><? 
A.  MF> D47=>EFL ?>F5=F<4?>6 46GE F>G5> M?5>FD<G5E>>7> ?>?O. 
B.  MF> 45E>?NF=4O 4<M?5>FD<G5E>4O ?D>=<F45<>EFL 64>GG<4. 
C.  =47O64NF 65?<G<=G, D46=4O >F=>L5=<N 74DO44 >4=>= <7 >5>?44>> >>=45=E4-
F>D4 > =4?DO65=<N <564G =<<<. 
D.  =47O64NF GEFD>=EF6>, E>EF>OM55 <7 46GE ?D>6>4=<>>6 ?N5>= D>D<O, D4745-
?5==OE 4<M?5>FD<>><. 
E.  =47O64NF D45>FG, ?> ?5D5<5M5=<N 54<=<G=>7> 74DO44 <7 F>G>< ?>?O 6 55E-
>>=5G=>EFL. 
 

13.  'E?>6=>5 >5>7=4G5=<5  
A.  D57<EF>D 
B.  ?D54>ED4=<F5?L 
C.  D5>EF4F 
D.  >455?L, ?D>6>4, L<=4 M?5>FD<G5E>>= F5?< 
E.  ?D<5<=<> M?5>FD<G5E>>= M=5D7<< 
 
14.  �4<?4 =4>4?<64=<O E E>?D>F<6?5=<5< R= 440 �< 6>?NG5=4 6 E5FL E =4?DO-
65=<5< U=110 �. �?D545?<FL E<?G F>>4 6 ?4<?5. 
A.  25 � 
B.  30 � 
C.  12 � 
D.  0,25 � 
E.  1 � 
 
15.  �4><5 =>E<F5?< 74DO44 EGM5EF6GNF? 
A.  M?5>FD>=O 
B.  ?>?>6<F5?L=O5 <>=O 
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C.  >FD<F4F5?L=O5 <>=O 
D.  =5=FD4?L=O5 
E.  6E5 ?5D5G<E?5==O5 
 
 

16.   %>>?L>> 6 EE5<5 G7?>6 < 65F65=? 
 
A.  G7?>6 4, 65F65= 4; 
B.  G7?>6 2, 65F65= 4; 
C.  G7?>6 3, 65F65= 5; 
D.  G7?>6 3, 65F65= 4; 
E.  G7?>6 3, 65F65= 2. 
 
17.  �5?<G<=4, >5D4F=4O E>?D>F<6?5=<N 
A.  ?D>6>4<<>EFL 
B.  G45?L=>5 E>?D>F<6?5=<5 
C.  ?5D<>4 
D.  =4?DO65=<5 
E.  ?>F5=F<4? 
 
18.  �<>>EFL >>=45=E4F>D4 %=10 <$; 74DO4 >>=45=E4F>D4 Q= 4; 

 �?D545?<FL =4?DO65=<5 =4 >5>?44>4E. 
A.  0,4 �; 
B.  4 <�; 
C.  4;  �; 
D.  4;  �; 
E.  0,04 �. 
 
19.  �G45F ?< ?D>E>4<FL 6 F5?< ?>EF>O==O= F>>, 5E?< 6<5EF> <EF>G=<>4 -�% 3 
6>?NG<FL 74DO65==O= >>=45=E4F>D? 
A.  =5 5G45F 
B.  5G45F, => =54>?7> 
C.  5G45F 
D.  �, � 
E.  6E5 >F65FO ?D46<?L=> 
 
20.  � F5?< ?<F4=<O =47D564F5?L=>7> ?D<5>D4, 6>?NG5==>7> ?>4 =4?DO65=<5 
220 �, E<?4 F>>4 5 �. �?D545?<FL <>M=>EFL ?D<5>D4. 
A.  25 �F 
B.  4,4 �F 
C.  2,1 >�F 
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D.  1,1 >�F 
E.  44 �F 
 
21.  �?>F=>EFL M?5>FD<G5E>>7> F>>4 >?D545?O5FEO ?> D>D<G?5: 
A.  &=q/t 
B.  &=I/S 
C.  &=dl/S 
D.  &=1/R 
E.  &=1/t 
 
22.  �?D545?<FL >>?<G5EF6> F5??>FO, 6O45?5==>5 6 =47D564F5?L=>< ?D<5>D5 6 
F5G5=<5 0,5 G, 5E?< >= 6>?NG5= 6 E5FL =4?DO65=<5< 110 � < <<55F E>?D>F<6?5-
=<5 24 �<. 
A.  130 000 �6 
B.  650 000 �6 
C.  907 500 �6 
D.  235 >�6 
E.  445 500 �6 
 
23.  �47=<F=4O E<EF5<4, 6 >>F>D>= 6E5 EF5D6=< <<5NF >4<=4>>6GN D>D<G, >>=-
EFDG>F<N < D47<5DO, 4 674<<=>5 D4E?>?>65=<5 ?N5>7> EF5D6=O ?> >F=>L5=<N 
>> 6E5< OD<4< >4<=4>>6> 4?O 6E5E EF5D=5=. 
A.  E<<<5FD<G=4O <47=<F=4O E<EF5<4 
B.  =5E<<<5FD<G=4O <47=<F=4O E<EF5<4 
C.  ??>E>4O <47=<F=4O E<EF5<4 
D.  ?D>EFD4=EF65==4O <47=<F=4O E<EF5<4 
E.  ?DO<4O <47=<F=4O E<EF5<4 
 
24.  �55E?5G<645F D<7<G5E>GN 74M<FG 4?O 4>F<6=>7> >><?>=5=F4, 4 F4>65 
?D54EF46?O5F E>5>= D575D6G4D 4?O <4E?4. 
A.  >5<>F>4 
B.  <47=<F=4O E<EF5<4 
C.  46F>FD4=ED>D<4F>D 
D.  E<EF5<4 >E?4645=<O 
E.  54> 
 
25.  &D4=ED>D<4F>D, ?D54=47=4G5==O= 4?O ?D5>5D47>64=<O <<?G?LE=OE E<7=4-
?>6 E 4?<F5?L=>EFLN <<?G?LE4 4> 45EOF>>6 <<>D>E5>G=4 E <<=<<4?L=O< <E>4-
65=<5< D>D<O <<?G?LE4. 
A.  FD4=ED>D<4F>D F>>4 
B.  FD4=ED>D<4F>D =4?DO65=<5 
C.  46F>FD4=ED>D<4F>D 
D.  <<?G?LE=O= FD4=ED>D<4F>D 
E.  <5E4=<G5E><= FD4=ED>D<4F>D. 
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�F65FO  > F5EFG 

 
1-64D<4=F 2-64D<4=F 

1.  % 1. D 

2.  � 2.� 

3.  D 3.% 

4.  � 4.D 

5.  � 5.� 

6.  % 6.� 

7.  % 7.� 

8.  � 8.D 

9.  � 9.� 

10.  � 10.% 

11.  � 11.� 

12.  D 12.� 

13.  D 13.� 

14.  � 14.D 

15.  % 15.� 

16.  � 16.� 

17.  � 17.� 

18.  D 18.� 

19.  � 19.� 

20.  � 20.D 

21.  � 21.B 

22.  D 22.% 

23.  � 23.� 

24.  % 24.�   
25.  D 25. D   

 

�>?D>EO > 74G5FG 

 

1. �5M<5 E6545=<O >5 M?5>FD>F5E=<>5. 
2. -?5>FD<G5E>4O F5?L, 55 M?5<5=FO. 
3. �?D545?5=<5 < <7>5D465=<5 M?5>FD<G5E>>7> ?>?O. 
4. �4>>= �G?>=4. �4?DO65==>EFL M?5>FD<G5E>>7> ?>?O. 
5. �>F5=F<4?. -?5>FD<G5E>>5 =4?DO65=<5. 
6. �D>6>4=<>< 6 M?5>FD<G5E>>< ?>?5. -?5>FD>EF4F<G5E>4O <=4G>F<O. 
7. �<M?5>FD<>< 6 M?5>FD<G5E>>< ?>?5. �>?OD<74F<O 4<M?5>FD<>4. 
8. -?5>FD><7>?OF<>==O5 <4F5D<4?O. 
9. -?5>FD<G5E>4O 5<>>EFL. �?>E><= >>=45=E4F>D. 
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10. %>54<=5=<5 >>=45=E4F>D>6. -=5D7<O M?5>FD<G5E>>7> ?>?O. 
11. -?5>FD<G5E><= F>>. -?5>FD>46<6GM4O E<?4 (-�%) < =4?DO65=<5. 
12. %>54<=5=<O M?5<5=F>6: ?>E?54>64F5?L=>5, ?4D4??5?L=>5 < E<5L4==>5. 
13. �5F>4O D4EG5F>6 M?5>FD<G5E>>= F5?<. 
14. �4>>= �<4. 
15. �4>>=O �<DE7>DD4. 
16. �64 D56<<4 D45>FO <EF>G=<>4 ?<F4=<O. 
17. $4EG5F E?>6=OE M?5>FD<G5E><E F5?5=. 
18. �>M=>EFL 6 F5?OE ?>EF>O==>7> F>>4. 
19. �5?<=5==O5 M?5<5=FO, <E 6<4O, E4D4>F5D<EF<><. 
20. �5M<5 E6545=<O > <47=<F=>< ?>?5 < 57> E6>=EF64. 
21. �4F5D<4?O 6 <47=<F=>< ?>?5. 
22. $4EG5F <47=<F=>= F5?<. 
23. �4>>= ?>?=>7> F>>4. 
24. �47=<F=>5 ?>?5 ?DO<>?<=5==>7> F>>4, >>?LF56>= < F<?<=4D<G5E>>= >4FG-
L5>. 
25. �D>6>4=<>< E F>>>< 6 <47=<F=>< ?>?5. 
26. �4>>= M?5>FD><47=<F=>= <=4G>F<<. 
27. -�% E4<> - < 674<<><=4G>F<<. 
28. �D5>5D47>64=<5 M?5>FD<G5E>>= M=5D7<< 6 <5E4=<G5E>GN M=5D7<N < =4>5>-
D>F. 
29. �E=>6=O5 ?4D4<5FDO ?5D5<5==>7> F>>4. 
30. &5?L E 4>F<6=O< E>?D>F<6?5=<5< < 5<>>EFLN. 
31. &5?L E 4>F<6=O< E>?D>F<6?5=<5< < <=4G>F<6=>EFLN. 
32. &5?L E 4>F<6=O< E>?D>F<6?5=<5<, 5<>>EFLN < <=4G>F<6=>EFLN. 
33. $57>=4=E =4?DO65=<=. 
34. $57>=4=E F>>>6. 
35. �D<=F<? ?>?GG5=<O FD5ED47=>= M?5>FD>46<6GM5= E<?O (-�%). 
36. �E=>6=O5 EE5<O E>54<=5=<O FD5ED47=OE F5?5=. 
37. %>54<=5=<O =47DG7>< FD5ED47=OE F5?5= 76574>= < FD5G7>?L=<>><. 
38. %>>F=>L5=<O <564G D47=O<< < ?<=5==O<< F>>4<< < =4?DO65=<O<<. 
39. �5>F>D=O5 4<47D4<<O. 
40. �>M=>EF< 6 FD5ED47=OE F5?OE. 
41. �47=4G5=<5, GEFD>=EF6> < ?D<<5=5=<5 FD4=ED>D<4F>D>6. 
42. 'EFD>=EF6> < ?D<=F<? D45>FO 46<74F5?5= ?5D5<5==>7> F>>4. 
43.  %<=ED>==O= 46<74F5?L. 
44.  %<=ED>==O= 75=5D4F>D. 
45.  'EFD>=EF6> < ?D<=F<? D45>FO M?5>FD<G5E><E <4L<= ?>EF>O==>7> F>>4. 
46. �D>6>4=<><, <7>?OF>DO < ?>?G?D>6>4=<><. 
47.  -?5>FD>?D>6>4=>EFL ?>?G?D>6>4=<>>6. 
48.  -?5>FD>==>-4OD>G=O= ?5D5E>4. 
49.  �>?G?D>6>4=<>>6O= 4<>4. 
50.  �<?>?OD=O5 < ?>?56O5 FD4=7<EF>DO. 
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7.4 �5F>4<>4 >F5=<64=<O 7=4=<=, G<5=<=, =46O>>6 

�F5=>4 7=4=<=, G<5=<= < =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5-
D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<= ?> 4<EF<??<=5 ?D>6>4OFEO 6 
D>D<5 F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<<. &5>GM<= >>=FD>?L 
?D>6>4<FEO 6 F5G5=<5 E5<5EFD4 E F5?LN >?D545?5=<O GD>6=O GE6>5=<O >5GG4N-
M<<<EO 7=4=<=, D>D<<D>64=<O G<5=<= < =46O>>6, E6>56D5<5==>7> 6OO6?5=<O 
?D5?>4464F5?5< =54>EF4F>>6 6 ?>47>F>6>5 >5GG4NM<EEO < ?D<=OF<O =5>5E>4<-
<OE <5D ?> 55 >>DD5>F<D>6>5, 4 F4>65 4?O E>65DL5=EF6>64=<O <5F>4<>< >5GG5-
=<O, >D74=<74F<< GG55=>= D45>FO < >>474=<O <=4<6<4G4?L=>= ?><>M< >5GG4-
NM<<<EO. 

�D<F5D<< >F5=>< 7=4=<= EFG45=F>6 ?D< ?D>6545=<< F5EF<D>64=<O. 
�F5=>4 «>F?<G=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG-

45=F4 =5 <5=55 G5< 85% F5EF>6OE 7444=<=. 
�F5=>4 «E>D>L>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG-

45=F4 =5 <5=55 G5< 70% F5EF>6OE 7444=<=. 
�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> 

>F65F4 EFG45=F4 =5 <5=55 G5< 50% F5EF>6OE 7444=<=. 
�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>-

7> >F65F4 EFG45=F4 <5=55 G5< 50% F5EF>6OE 7444=<=. 
 
�D<F5D<< >F5=>< >F65F>6 =4 74G5F5 

�F5=>< «74GF5=>» 74E?G6<645F EFG45=F, >5=4DG6<6L<= 6E5EF>D>==55, 
E<EF5<4F<G5E>>5 < 7?G5>>>5 7=4=<5 GG55=>7> <4F5D<4?4, G<5NM<= E6>5>4=> 
6O?>?=OFL 7444=<O, ?D54GE<>FD5==O5 ?D>7D4<<>=, GE6><6L<= >E=>6=GN < 7=4-
>><O= E 4>?>?=<F5?L=>= ?<F5D4FGD>=, D5>><5=4>64==>= >4D54D>=, 45<>=EFD<-
DGNM<5 E<EF5<4F<G5E><= E4D4>F5D 7=4=<= ?> 4<EF<??<=5 < E?>E>5=O5 > <E E4-
<>EF>OF5?L=><G ?>?>?=5=<N < >5=>6?5=<N 6 E>45 GG55O. 

�F5=>4 «=574GF5=>» 6OEF46?O5FEO EFG45=F4<, >5=4DG6<6L<< ?D>55?O 6 
7=4=<OE >E=>6=>7> GG55=>7> <4F5D<4?4, 4>?GE>4NM<< ?D<=F<?<4?L=O5 >L<5-
>< 6 6O?>?=5=<< ?D54GE<>FD5==OE ?D>7D4<<>= 7444=<=. &4>>= >F5=>< 74E?G-
6<64NF >F65FO EFG45=F>6, =>EOM<5 =5E<EF5<4F<7<D>64==O=, >FDO6>G=O=, ?>-
65DE=>EF=O= E4D4>F5D, >>744 EFG45=F =5 ?>=<<45F EGM5EF64 <7?4745<OE << 6>-
?D>E>6, GF> E6<45F5?LEF6G5F > F><, GF> EFG45=F =5 <>65F 44?LL5 ?D>4>?64FL 
>5GG5=<5 557 4>?>?=<F5?L=OE 74=OF<= ?> E>>F65FEF6GNM5= 4<EF<??<=5 
 
8. �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 

4?O >E6>5=<O 4<EF<??<=O 

4) �E=>6=4O ?<F5D4FGD4: 

1.  �5D4E<<>6 �.�. «-?5>FD>F5E=<>4». 'G55=<> 4?O 6G7>6. - �.: �OEL4O 
L>>?4, 1983.  

2.  �46>D>=>>6 �.�. «-?5>FD>F5E=<>4 < M?5>FD>=<>4». �.; �>445<<O, 
2005. 

3.  �4E4F><= �.%., �5<F>6 �.�.  «-?5>FD>F5E=<>4». 'G55=<> 4?O 6G7>6. - 
�.: �OEL4O L>>?4, 2002     

4.  �<< �.�. «%D54EF64 M?5>FD<G5E><E <7<5D5=<= < <E ?>65D>4»: GG55. ?>-
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E>5<5 / �.�. �<<, �.�. �=<E<<>6, �.�. 'GD4>>6; �>4 D54. �.�. �<<4. %4=>F-
�5F5D5GD7: �4=L, 2018.  

5.  �>=>=5=>> �.�. «-?5>FD>F5E=<>4 < M?5>FD>=<>4».  'G55=>5   ?>E>5<5. 
3 $5=<>E, 2004. 

6.  �D46F>64 �.�.  «-?5>FD>F5E=<>4. �><?LNF5D=O5 F5E=>?>7<< ?D4>F<-
G5E><E 74=OF<=. //�>4 D54. �.�. �D46F>64. - �.: ���' <<. �.�. �>DOG><=4, 
2000.    

7.  �4DG5=>> �.�.  «�45>D4F>D=O= ?D4>F<>G< ?> M?5>FD>F5E=<>5 < M?5>-
FD>=<>5 6 ED545 MULTISIM»: 'G55=>5 ?>E>5<5 4?O 6G7>6. 3 �.: ��� �D5EE, 
2010. 3 448 E. 

8.  �>E>4?5=>> �. �.   «-?5>FD<G5E><= ?D<6>4»: GG55=<> 4?O EFG4. 6OEL. 
GG. 746545=<=, 4>?GM. �<=. >5D47. $$ / �. �. �>E>4?5=>>. - �>E>64: �74. F5=FD 
"�>445<<O", 2007. - 368E.  

9.  �5<F>6 �.�.  «�5M4O M?5>FD>F5E=<>4». 'G55=<> 4?O 6G7>6. 3 �.: 
�OEL4O L>>?4, 2004.   

10.  �5<F>6 �.�., �4E4F><= �.%. «�GDE M?5>FD>F5E=<><». �.; �OEL4O 
L>>?4, 2003. 

 
5) �>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �5?>6 �.�. «-?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><». �.�. �5?>6, ..%. 
�>?>>6. %�5.: �4=L, 2012. 4 432 E. http://e.lanbook.com/book/3553   

2. �OG>>6 ..�. «�6545=<5 6 F5>D5F<G5E>GN M?5>FD>F5E=<>G. �GDE ?>47>-
F>6>< 54>4?46D>6». ..�. �OG>>6, �.�. �>?>F=<F><=, �.�. %>?>6L564, -.�. '5D-
=OL56. %�5. : �4=L, 2016. 4 288 E. http://e.lanbook.com/book/89931 

3. �64=>6 �.�. «-?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><».  �.�. �64=>6, 
�.�. %>?>6L56, �./. $D>?>6. %�5.: �4=L, 2016. 4 736 E. 
http://e.lanbook.com/book/71749   

4. �64=>6 �.�. «-?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><»: 'G55=<>. �.�. 
�64=>6, �.�. %>?>6L56, �./. $D>?>6. %�5.: �4=L, 2017. 4 736 E.  
http://e.lanbook.com/book/93764   

5. �64=>6 �.�. «-?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><»: 'G55=<>. �.�. 
�64=>6, �.�. %>?>6L56, �./. $D>?>6. %�5.: �4=L, 2017. 4 736 E.  
http://e.lanbook.com/book/93764. 

6. �4F45=>> .. �. «-?5>FD>F5E=<>4», GG55=>5 ?>E>5<5 �>E>64: �4L>>6 < 
�. 2012 7. 288 EF. 

7. �>6>6<?>6 �.�. «-?5>FD>F5E=<>4 < M?5>FD>=<>4», GG55=<> 4?O 54>4-
?46D>6, 4>?. �<=.>5D. $$ �>E>64: .D4=F 2013 7.    

8. &<<>D556  �.�. «�E=>6O M?5>FD>F5E=<><, M?5>FD>=<>< < 46F><4F<><. 
�45>D4F>D=O= ?D4>F<>G<». %�5.: �4=L, 2016. http://e.lanbook.com/book/87595. 

9.  $D>?>6 �./.  «'EFD>=EF64 E<?>6>= M?5>FD>=<>< < ?D5>5D47>64F5?L=>= 
F5E=<>< E D47><>=GFO<< < 74<>=GFO<< E<EF5<4<< G?D46?5=<O 6 ED545 Matlab-
Simulink». �./. $D>?>6, �.�. , %<>D>4<=>6. %�5.: �4=L, 2017. 4 332 E. 
http://e.lanbook.com/book/93780.  

10.   $D>?>6 �./. «'EFD>=EF64 E<?>6>= M?5>FD>=<>< < ?D5>5D47>64-
F5?L=>= F5E=<>< E D47><>=GFO<< < 74<>=GFO<< E<EF5<4<< G?D46?5=<O 6 ED545 
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Matlab 4 Simulink: GG55. ?>E>5<5 / �./. $D>?>6, �.�. %<>D>4<=>6. %4=>F-
�5F5D5GD7: �4=L, 2018. 4 332 E. https://e.lanbook.com/book/106890.  

 
9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=-

F5D=5F», =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 

1. Elibrary. ru ($��&)- =4GG=4O M?5>FD>==4O 5<5?<>F5>4. 3 �>E>64, 2000. 
http://elibrary.ru 

2. �<D>64O F<DD>64O 5<5?<>F5>4 -https://www.wdl.org/ru/country/RU/. 
3. �4GG=4O 5<5?<>F5>4 ��' <<5=< �.�. �><>=>E>64 - http://nbmgu.ru/. 

4. $>EE<=E>4O 7>EG44DEF65==4O 5<5?<>F5>4 -rsl.ru. 
5. �5E??4F=4O M?5>FD>==4O 5<5?<>F5>4 - �4<=>5 >>=> 4>EFG?4 > >5D47>-

64F5?L=O< D5EGDE4< - http://window.edu.ru/ 
-?5>FD>==>-5<5?<>F5G=O5 E<EF5<O 

7 
?/? 

�4<<5=>64=<5 M?5>FD>==>-
5<5?<>F5G=>= E<EF5<O (-�%) 

�D<-
=44?56
=>EFL 

�4D5E E4=F4 �4<<5=>64=<5 >D74=<74F<<-
6?445?LF4, D5>6<7<FO 4>7>6>D4 =4 

<E?>?L7>64=<5 
1. �>EFG? > >>??5>F<O< «�4<=4O ?D>-

D5EE<>=4?L=4O 5474 7=4=<= 4?O 47-
D4D=OE 6G7>6 - �744F5?LEF6> �4=L 
«-�%» -�% �4=L < «�4<=4O ?D>D5E-
E<>=4?L=4O 5474 7=4=<= <744F5?LEF64 
�4=L 4?O %�� 3 �744F5?LEF6> �4=L 
(%��» -�% ���, 

EF>-
D>==OO 

http://e.lanb
ook.com 

OOO «�744F5?LEF6> �4=L» %4=>F-
�5F5D5GD7 
�<F5=7<>==O= 4>7>6>D 
7 93, 98 >F 19.03.2024 7. 
E 15.04.2024 7. ?> 14.04.2025 7. 

2. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 
«�744F5?LEF6> �4=L».  «->>=><<>4 
< <5=546<5=F- �744F5?LEF6> �4L-
>>6 < �» 

EF>-
D>==OO 

http://e.lanb
ook.com 

OOO «�744F5?LEF6> �4=L» %4=>F-
�5F5D5GD7 �>7>6>D 7 290 >F 
13.12.2023 
E 01.02.2024 7. 4> 31.01.2025 7 

3. Polpred.com EF>-
D>==OO 

http://Dolpre
d.com 

��� «�>??D54 E?D46>G=<><» %>7?4-
L5=<5 >F 05.12.20177. 557 >7D4=<G5=<O 
6D5<5=<. 

4. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 
«�744F5?LEF6> �4=L» (�GD=4?O) 

EF>-
D>==OO 

http://e.lanb
ook.com 

OOO «�744F5?LEF6> �4=L» %4=>F-
�5F5D5GD7 �>7>6>D >F 09.07.2013 7. 
557 >7D4=<G5=<O 6D5<5=< 

5. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 
«�744F5?LEF6> �4=L» (>>=E>DF<G< 
E5F56OE M?5>FD>==OE 5<5?<>F5>) 

EF>-
D>==OO 

http://e.lanb
ook.com 

OOO «�744F5?LEF6> �4=L» %4=>F-
�5F5D5GD7 �>7>6>D 7 17 >F 
11.11.20197. 557 >7D4=<G5=<O 6D5<5=< 

6. -�% «.D4=F» EF>-
D>==OO 

http://www.
biblio-
online.ru/ 

��� «.D4=F» �>7>6>D 7 35 >F 
12.12.20177. > D4745?G «�575=44D=O5 
>=<7<» 557 >7D4=<G5=<O 6D5<5=< 

7. -�% «.D4=F» %�� EF>-
D>==OO 

http://www.
biblio-
online.ru/ 

��� «-?5>FD>==>5 <744F5?LEF6> 
.D4=F» �>7>6>D 7290 >F 13.12.2023 7 
% 18.02.2024 ?> 17.02.2025 7. 

8. -�% $���' �� �4?<=<=7D44E>>7> 
�&' «$O5>E>7O=EF65==>5 >5D47>64-
=<5» 

EF>-
D>==OO 

http://lib.klgt
u.ru/jirbis2 

$���' �� �4?<=<=7D44E>>7> �&' 
�<F5=7<>==O= 4>7>6>D 
7 01-308-2021/06 >F 09.04.2021 
E 01.06.2021 557 >7D4=<G5=<O 6D5<5=<. 

9. $�'. 10-11 >?. �74-6> «�D>E65M5-
=<5». �5M5>5D47>64F5?L=O5 ?D54-
<5FO. 3 -�% ���, 

EF>-
D>==OO 

http://e.lanb
ook.com 

�74-6> «�D>E65M5=<5» -�% ���, 
�>7>6>D 7 385 >F 12.07.2023 7. 
E 01.09.2023 4> 31.08.2024 7. 

 

�>EFG? 557 >7D4=<G5=<O G<E?4 ?>?L7>64F5?5=. 
 

10. �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O 

�7GG5=<5 4<EF<??<=O «�5M4O M?5>FD>F5E=<>4 < M?5>FD>=<>4» >EGM5EF6-
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?O5FEO E <E?>?L7>64=<5< >?4EE<G5E><E D>D< GG55=OE 74=OF<=: ?5>F<=, ?D4>F<-
G5E><E 74=OF<=, E4<>EF>OF5?L=>= D45>FO 6> 6=54G4<F>D=>= >5EF4=>6>5. 

$5>><5=44F<< ?> ?>47>F>6>5 > ?5>F<>==O< 74=OF<O< (F5>D5F<G5-

E><= >GDE). 

�5>F<O O6?O5FEO 654GM5= D>D<>= GG55=OE 74=OF<=. �5>F<O ?D54=47=4-
G5=4 4?O <7?>65=<O ?D5?>4464F5?5< E<EF5<4F<7<D>64==OE >E=>6 =4GG=OE 7=4-
=<= ?> 4<EF<??<=5, 4=4?<F<G5E>>= <=D>D<4F<< > 4<E>GEE<>==OE ?D>5?5<4E, 
E>EF>O=<< < ?5DE?5>F<64E ?D>5>F<D>64=<O ?D54?D<OF<= 46F><>5<?L=>7> 
FD4=E?>DF4. �4 ?5>F<<, >4> ?D46<?>, ?>4=<<4NFEO =4<5>?55 E?>6=O5, G7?>6O5 
6>?D>EO GG55=>= 4<EF<??<=O. 

�4>E<<4?L=O= MDD5>F ?5>F<O 445F F>744, >>744 EFG45=F 74D4=55 7>F>6<F-
EO > ?5>F<>==><G 74=OF<N: 7=4>><<FEO E ?D>5?5<4<< ?5>F<< ?> GG55=<>G <?< 
?> ?D>7D4<<5 4<EF<??<=O. $5>><5=4G5FEO ?D>E<4FD<64FL 74?<E< ?D54O4GM57> 
GG55=>7> 74=OF<O, <EE>4O <7 ?>7<G5E>>7> 54<=EF64 F5< GG55=>= 4<EF<??<=O. 

� E>45 ?5>F<< EFG45=FG F5?5E>>5D47=>: 
%FD5<<FLEO =5 > 4>E?>6=>= 74?<E< <7?4745<>7> ?D5?>4464F5?5< GG55=>7> 

<4F5D<4?4, 4 > >E<OE?5=<N GE?OL4==>7> < 74?<E< E6><<< E?>64<< >E=>6=OE 
D4>F>6, <OE?5= ?5>F>D4; 6OD454FO64FL =46O>< F57<E=>7> <7?>65=<O < =4?<E4-
=<O GG55=>7> <4F5D<4?4, 65EF< 74?<E< «E6><<< E?>64<<», 6<5EF5 E F5<, =5 4>-
?GE>4O <E>465=<O <?< ?>4<5=O E<OE?4 =4GG=OE 6OD465=<=. �?D545?5=<O, =4 
>>F>DO5 >5D4M45F 6=<<4=<5 ?D5?>4464F5?L ?<5> E?>64<<, ?<5> <=F>=4F<5=, 
E?54G5F 74?<EO64FL G5F>>, 4>E?>6=>. �4> ?D46<?>, F4><5 >?D545?5=<O ?D5?>44-
64F5?L ?>6F>DO5F =5E>>?L>> D47 <?< 445F ?>4 74?<EL. 

1. �EF46?OFL 6 F5FD44< 4?O >>=E?5>F4 ?5>F<< L<D>><5 ?>?O, ?<5> 65EF< 
74?<E< =4 >4=>= EFD4=<F5. -F> =G6=> 4?O F>7>, GF>5O 6 44?L=5=L5< <>6=> 5O-
?> 5O 6=>E<FL =5>5E>4<<O5 4>?>?=5=<O 6 E>45D64=<5 ?5>F<< <7 D47?<G=OE <E-
F>G=<>>6: <>=>7D4D<=, GG55=OE ?>E>5<=, ?5D<>4<>< < 4D. 

2. �<E4FL =4764=<5 F5<O, GG55=O5 6>?D>EO ?5>F<< =4 =>6>= EFD4=<F5 
F5FD44<, GF>5O ?57>> <>6=> 5O?> =4=F< =5>5E>4<<O5 GG55=O= <4F5D<4?. 

3. �4G<=4FL >464GN =>6GN <OE?L, =>6O= DD47<5=F ?5>F<< E >D4E=>= 
EFD>><; 747>?>6>< < ?>4747>?>6><, 646=5=L<5 ?>?>65=<O, =4 >>F>DO5 >5D4M45F 
6=<<4=<5 ?D5?>4464F5?L, 4 F4>65 >?D545?5=<O 6O45?OFL: 5G>64<< 5>?LL57> 
D47<5D4, G5D=<?4<< 4DG7>7> F65F4, ?<5> ?>4G5D><64FL. 

4. �G<5D>64FL 6EFD5G4NM<5EO 6 ?5>F<< ?5D5G<E?5=<O F<DD4<<: 1, 2, 3 . . 
., <?< 5G>64<<: 4, 5, 6. . .  . �5D5G<E?5=<O ?GGL5 74?<EO64FL EF>?5F><. &4>4O 74-
?<EL ?D<445F >>=E?5>FG 5>?LLGN =47?O4=>EFL < E?>E>5EF6G5F ?GGL5<G 74?>-
<<=4=<N GG55=>7> <4F5D<4?4. 

5. �OD45>F4FL G4>5=GN < ?>=OF=GN 4?O E55O E<EF5<G E>>D4M5=<= < 
GE?>6=OE >5>7=4G5=<=. -F> M>>=><<F 6D5<O, ?>76>?O5F 74?<EO64FL <4F5D<4? 
>464>= ?5>F<< ?>GF< 4>E?>6=>, 445F 6>7<>6=>EFL E>>=F5=FD<D>64FL 6=<<4=<5 
=4 E>45D64=<< <7?4745<>7> <4F5D<4?4, 4 =5 =4 <5E4=<G5E>>< ?D>F5EE5 >>=-
E?5>F<D>64=<O. 

�> >>>=G4=<N ?5>F<< F5?5E>>5D47=> 4>D454FO64FL 55 >>=E?5>F 6> 6D5<O 
E4<>EF>OF5?L=>= D45>FO 6 F>F 65 45=L, 6 >D4==5< E?GG45, =5 ?>74=55, G5< E?G-
EFO 2-3 4=O ?>E?5 55 ?D>E?GL<64=<O. -F> 646=> ?>F><G, GF> 5M5 =5 745OF GG55-
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=O= <4F5D<4? ?5>F<<, EFG45=F =4E>4<FEO ?>4 55 6?5G4F?5=<5<, >4> ?D46<?>, OE-
=> ?><=<F G>474=<O ?D5?>4464F5?O, E>D>L> >E>7=45F, GF> 5<G =5?>=OF=> <7 <4-
F5D<4?4 ?5>F<<. 

$5>><5=44F<< ?> ?>47>F>6>5 > ?D4>F<G5E><< 74=OF<O<. %FG45=F4< 
E?54G5F ?D<=>E<FL E E>5>= D5>><5=4>64==GN ?D5?>4464F5?5< ?<F5D4FGDG > 
>>=>D5F=><G ?D4>F<G5E>><G 74=OF<N (��)�4<5>?55 F5?5E>>5D47=4O EFD4F57<O 
E4<>EF>OF5?L=>= ?>47>F>6>< EFG45=F4 > 74=OF<O< 74>?NG45FEO 6 F><, GF>5O =4 
?5D6>< MF4?5 GE6><FL E>45D64=<5 6E5E 6>?D>E>6, >5D4M4O 6=<<4=<O =4 G7?>6O5 
?D>5?5<O, 6O45?5==O5 ?D5?>4464F5?5< 6 E>45 ?5>F<< ?<5> >>=EG?LF4F<<. �?O 
MF>7> =5>5E>4<<>, >4> <<=<<G<, ?D>G<F4FL >>=E?5>F ?5>F<< < GG55=<>, ?<5> 
GG55=>5 ?>E>5<5. %?54GNM<= MF4? ?>47>F>6>< 74>?NG45FEO 6 6O5>D5 6>?D>E4 
4?O 5>?55 7?G5>>>7> <7GG5=<O E <E?>?L7>64=<5< 4>?>?=<F5?L=>= ?<F5D4FGDO. 
�> MF><G 6>?D>EG EFG45=F EF4=5F 7?46=O< E?5F<4?<EF>< =4 ��. &5==>EFL 6O-
EFG??5=<O EFG45=F4 =4 �� 6>7D4EF5F, 5E?< 6 E>45 D45>FO =44 ?<F5D4FGD>= >= E>-
?>EF46<F D47=O5 F>G>< 7D5=<O =4 FG <?< <=GN ?D>5?5<G. 

�>E?5 <7GG5=<O < >5>5M5=<O <=D>D<4F<<, >>F>DGN E>45D64F <EF>G=<>< 
< ?<F5D4FGD4, E>EF46?O5FEO D4765D=GFO= <?< >D4F><= ??4= 6OEFG??5=<O. �>>=-
G4F5?L=O= 64D<4=F ??4=4 6OEFG??5=<O 6 <454?5 65?4F5?L=> <<5FL =5 F>?L>> =4 
5G<475, => < 6 7>?>65, <7?474O =4 74=OF<< ?>47>F>6?5==O= 6>?D>E 6 E6>5>4=>= 
D>D<5, =4<7GEFL, GF> ?><>65F ?GGL5<G 74>D5??5=<N GG55=>7> <4F5D<4?4, EF4-
=5F E>D>L5= FD5=<D>6>>= G65D5==>EF< 6 E6><E E<?4E. �D< =5>5E>4<<>EF< =5 
6>75D4=O5FEO «?>47?O4O64FL» 6 ??4= =4 ?<EF>5 5G<47<, GF>5O =5 >L<5<FLEO 6 
F<DD4E, F>G=55 ?5D544FL E>45D64=<5 F<F4F, =5 745OFL >4>>=-F> 646=O= EN65F 
F5<O 6OEFG??5=<O. 

� E>45 D45>FO =4 �� >F EFG45=F4 FD55G5FEO ?>EF>O==O= E4<>>>=FD>?L. 
�7> ?5D6O< >5N5>F>< 4>?6=> 5OFL 6D5<O, >F6545==>5 ?D5?>4464F5?5< =4 6O-
EFG??5=<5. �5 E?54G5F 7?>G?>FD55?OFL 6D5<5=5<. �>EF><=EF6>< >D4F>D4 O6?O-
5FEO EFD5<?5=<5 > ?4>>=<G=>EF<, => =5 6 GM5D5 4D7G<5=F<D>64==>EF< < E>45D-
64F5?L=>EF< 6OEFG??5=<O. 

%?GL4O 6OEFG??5=<O =4 �� <?< D5??<>< 6 E>45 4<E>GEE<<, 646=> 
=4GG<FLEO G6464FL <=5=<5 E>55E54=<>4, =5 ?5D55<64FL 57>, 4464O 6>7<>6=>EFL 
?>?=>EFLN 6OE>474FL E6>N F>G>G 7D5=<O. 

%FG45=F4<, ?D>?GEF<6L<< 74=OF<O (=5746<E<<> >F ?D<G<=), =5 <<5NM<5 
?<EL<5==>7> D5L5=<O 7444G <?< =5 ?>47>F>6<6L<5EO > 44==><G ?D4>F<G5E>><G 
74=OF<N, D5>><5=4G5FEO =5 ?>765 G5< 6 2-=545?L=O= ED>> O6<FLEO =4 >>=EG?L-
F4F<N > ?D5?>4464F5?N < >FG<F4FLEO ?> F5<5, <7GG46L5=EO =4 74=OF<<. %FG45=-
FO, =5 >FG<F46L<5EO ?> >464>= =5 ?D>D45>F4==>= <<< =4 74=OF<OE F5<5 > =4G4-
?G 74G5F=>= E5EE<<, G?GE>4NF 6>7<>6=>EFL ?>?GG<FL ?>?>65==O5 54??O 74 D4-
5>FG 6 E>>F65FEF6GNM5< E5<5EFD5. 

�>>?44 3 MF> ?G5?<G=>5 E>>5M5=<5, ?D54EF46?ONM55 E>5>= D4765D=GF>5 
<7?>65=<5 =4 >?D545?5==GN F5<G. �= >F?<G45FEO >F 6OEFG??5=<= 5>?LL<< 
>5N5<>< 6D5<5=< 3 20-25 <<=GF (6OEFG??5=<O, >4> ?D46<?>, >7D4=<G5=O 10-12 
<<=GF4<<). �>>?44 F4>65 ?>E6OM5= 5>?55 L<D>>><G >DG7G 6>?D>E>6, G5< 6O-
EFG??5=<5. 

&<?<G=4O >L<5>4 4>>?44G<>>6 6 F><, GF> >=< <7?474NF E>45D64=<5 ?D>-
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5?5< 4>>?444 O7O>>< >=<7< < 6GD=4?>6, >>F>DO= FDG4=> 6>E?D<=<<45FEO =4 
E?GE. 'EF=4O < ?<EL<5==4O D5GL EFD>OFEO ?>-D47=><G. �4<5>?55 G4>5=4O 4?O 
E?GE>6>7> 6>E?D<OF<O DD474 E>45D6<F 5-9 E<OE?>6OE 54<=<F, ?D><7=>E<<OE 
=4 >4=>< 674>E5. -F> E>>F65FEF6G5F >5N5<G >?5D4F<6=>= ?4<OF< G5?>65>4. � 
?5D6O5 5 E5>G=4 4>>?444 E?>64, ?D><7=5E5==O5 EFG45=F><, G45D6<64NFEO 6 ?4-
<OF< 57> 4G4<F>D<< >4> 76GG4=<5. &5?5E>>5D47=> ?>MF><G 74 5 E5>G=4 ED>D<<-
D>64FL 7465DL5==GN DD47G. -F> >55E?5G<645F 55 >E<OE?5=<5 E?GL4F5?O<< 4> 
?>EFG??5=<O =>6>7> >5N5<4 <=D>D<4F<<. 

�DG74O F<?<G=4O >L<5>4 4>>?44G<>>6 E>EF><F 6 F><, GF> << =5 G445FEO 
6O45D64FL 6D5<O, >F6545==>5 =4 4>>?44. 'F>5O <75564FL MF>= >L<5><, =5>5E>-
4<<>, =4>4=G=5 ?D>G<F4FL 4>>?44, 6OOE=<6, E>>?L>> 6D5<5=< ?>FD55G5FEO =4 
57> GF5=<5. �?O G4>5EF64 65?4F5?L=> ?DO<> =4 EFD4=<F4E 4>>?444 ?D>65EF< 
D4EG5F 6D5<5=<, >F<5G4O, E>>?L>> >D<5=F<D>6>G=> G=45F =4 GF5=<5 2, 4 EFD4=<F 
< F.4. 

�465DL5=<5 D45>FO =44 4>>?44>< ?D54?>?4745F 6O45?5=<5 6 57> F5>EF5 
7?46=OE <OE?5=, 4D7G<5=F>6, D4>F>6 E ?><>MLN 4574F56, ?>4G5D><64=<5<, <E-
?>?L7>64=<5< D47?<G=OE 7=4>>6, GF>5O E<OE?>6O5 >5D47O 4>>?444 ?D<>5D5?< 
< 7D<F5?L=GN =47?O4=>EFL, >5?57G4NMGN D45>FG E F5>EF>< 6 E>45 6OEFG??5=<O.  

�5F>4<G5E><5 D5>><5=44F<< ?> ?>47>F>6>5 > 74G5FG.  

�>F>6<FLEO > 74G5FG =5>5E>4<<> ?>E?54>64F5?L=>, E GG5F>< >>=FD>?L=OE 
6>?D>E>6, D47D45>F4==OE 654GM<< ?D5?>4464F5?5< >4D54DO. %=4G4?4 E?54G5F 
>?D545?<FL <5EF> >464>7> >>=FD>?L=>7> 6>?D>E4 6 E>>F65FEF6GNM5< D4745?5 
F5<O GG55=>= ?D>7D4<<O, 4 74F5< 6=<<4F5?L=> ?D>G<F4FL < >E<OE?<FL D5>>-
<5=4>64==O5 =4GG=O5 D45>FO, E>>F65FEF6GNM<5 D4745?O D5>><5=4>64==OE 
GG55=<>>6. �D< MF>< ?>?57=> 45?4FL E>FO 5O E4<O5 >D4F><5 6O?<E>< < 74<5F><. 
$45>FG =44 F5<>= <>6=> EG<F4FL 7465DL5==>=, 5E?< 6O E<>65F5 >F65F<FL =4 6E5 
>>=FD>?L=O5 6>?D>EO < 44FL >?D545?5=<5 ?>=OF<= ?> <7GG45<>= F5<5. �?O 
>55E?5G5=<O ?>?=>FO >F65F4 =4 >>=FD>?L=O5 6>?D>EO < ?GGL57> 74?><<=4=<O 
F5>D5F<G5E>>7> <4F5D<4?4 D5>><5=4G5FEO E>EF46?OFL ??4= >F65F4 =4 >>=FD>?L-
=O= 6>?D>E. -F> ?>76>?<F EM>>=><<FL 6D5<O 4?O ?>47>F>6>< =5?>ED54EF65==> 
?5D54 74G5F>< 74 EG5F >5D4M5=<O =5 > ?<F5D4FGD5, 4 > E6><< 74?<EO<. �D< ?>4-
7>F>6>5 =5>5E>4<<> 6OO6?OFL =4<5>?55 E?>6=O5, 4<E>GEE<>==O5 6>?D>EO, E 
F5<, GF>5O >5EG4<FL <E E ?D5?>4464F5?5< =4 >57>D=OE ?5>F<OE < >>=EG?LF4F<-
OE. �5?L7O >7D4=<G<64FL ?>47>F>6>G > 74G5FG ?D>EFO< ?>6F>D5=<5< <7GG5==>7> 
<4F5D<4?4. �5>5E>4<<> G7?G5<FL < D4EL<D<FL D4=55 ?D<>5D5F5==O5 7=4=<O 74 
EG5F =>6OE <45= < ?>?>65=<=.  

 
11. �=D>D<4F<>==O5 F5E=>?>7<< < ?D>7D4<<=>5 >55E?5G5=<5 

�5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5-
=<< >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5: 

 - F5E=<G5E><5 ED54EF64: >><?LNF5D=4O F5E=<>4 < ED54EF64 E6O7< (?5DE>-
=4?L=O5 >><?LNF5DO, ?D>5>F>D, <=F5D4>F<6=4O 4>E>4, 6<45>>4<5DO, 4>GEF<G5-
E>4O E<EF5<4 < F.4.); 

 -<5F>4O >5GG5=<O E <E?>?L7>64=<5< <=D>D<4F<>==OE F5E=>?>7<= (45-
<>=EFD4F<O <G?LF<<54<==OE <4F5D<4?>6 < F.4.); 
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-?5D5G5=L �=F5D=5F-E5D6<E>6 < M?5>FD>==OE D5EGDE>6 (?><E>>6O5 E<EF5-
<O, M?5>FD>==4O ?>GF4, ?D>D5EE<>=4?L=O5, F5<4F<G5E><5 G4FO < D>DG<O, E<-
EF5<O 4G4<> < 6<45> >>=D5D5=F<=, >=?4== M=F<>?>?54<< < E?D46>G=<><; M?5>-
FD>==O5 GG55=O5 < GG55=>-<5F>4<G5E><5 <4F5D<4?O). 

 

�D>7D4<<=>5 >55E?5G5=<5 (?<F5=7<>==>5 < E6>5>4=> D4E?D>EFD4=O-

5<>5), <E?>?L7G5<>5 6 GG55=>< ?D>F5EE5 

Microsoft Windows 10 PRO �?5D4F<>==4O E<EF5<4 
Microsoft Office (6>?NG45F 6 
E55O Word, Excel, PowerPoint) 

�4>5F >D<E=OE ?D>7D4<< 

Visual Studio %F4DF>64O ??>M44>4 4?O =4?<E4=<O, >F?44-
>< < E5>D>< >>44 

�><?4E 3D %<EF5<4 FD5E<5D=>7> ?D>5>F<D>64=<O 
Adobe Reader �D>7D4<<4 4?O GF5=<O < D544>F<D>64=<O 

PDF 4>>G<5=F>6 
Adobe InDesign �D>7D4<<4 >><?LNF5D=>= 6UDEF>< (DTP) 
/=45>E 5D4G75D �D4G75D 
7-Zip �DE<64F>D 
Kaspersky Free Antivirus �=F<6<DGE 
 
%?D46>G=4O ?D46>64O E<EF5<4 �>=EG?LF4=F �?NE.http://www.consultant.ru/ 

12. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O =5>5E>4<<>= 4?O >EGM5EF6-

?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 

�><?LNF5D=O= >?4EE, >><??5>F ??4>4F>6 ?> D4745?4< 4<EF<??<=, >>=-
FD>?<DGNM4O >><?LNF5D=4O F5EF>64O ?D>7D4<<4. 

 
13. �E>55==>EF< D54?<74F<< 4<EF<??<=O 4?O <=64?<4>6 < ?<F E >7D4=<-

G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?O-
NFEO E?5F<4?L=O5 GG55=<>< < GG55=O5 ?>E>5<O, <=4O GG55=4O ?<F5D4FGD4, 
?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 
=5>5E>4<<GN F5E=<G5E>GN ?><>ML. 

4) 4?O E?45>6<4OM<E:  

- =4 74G5F5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<<GN 
?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D45>G55 
<5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O 
?>4 4<>F>6>G); 

- 7444=<O 4?O 6O?>?=5=<O, 4 F4>65 <=EFDG>F<O > ?>DO4>5 ?D>6545=<O M>-
74<5=4 74G<FO64NFEO 4EE<EF5=F><; 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 5G<475, =44<>F>6O64NFEO 4EE<-
EF5=F><; 

- >55E?5G<645FEO <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 
?N>E; 

- EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 
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G65?<G<64NM55 GEFD>=EF6>. 
5) 4?O 7?GE<E < E?45>E?OL4M<E: 

- =4 74G5F5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<<GN 
?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D45>G55 
<5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O 
?>4 4<>F>6>G); 

- 74G5F ?D>6>4<FEO 6 ?<EL<5==>= D>D<5; 
- >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> 

<E?>?L7>64=<O, ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4-
D4FGD4 <=4<6<4G4?L=>7> ?>?L7>64=<O. 

- ?> 65?4=<N EFG45=F4 74G5F  <>65F ?D>6>4<FLEO 6 ?<EL<5==>= D>D<5. 
6) 4?O ?<F E =4DGL5=<O<< >?>D=>-46<74F5?L=>7> 4??4D4F4 (FO65?O-

<< =4DGL5=<O<< 46<74F5?L=OE DG=>F<= 65DE=<E >>=5G=>EF5= <?< >FEGF-

EF6<O 65DE=<E >>=5G=>EF5=): 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64=-
=O< ?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO 4EE<EF5=F><. 

- ?> 65?4=<N EFG45=F4 74G5F ?D>6>4<FEO 6 GEF=>= D>D<5. 
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�>?>?=5=<O < <7<5=5=<O 6 D45>GGN ?D>7D4<<G 4<EF<??<=O 

 
�=5E5==O5 <7<5=5=<O =4 20__/20__ GG55=O= 7>4 

 

'&��$���. 

?D>D5>F>D ?> GG55=>= D45>F5 

_____________ �.�. �G>4<?>6 

«___»___________ 20   7. 

 
� ?D>7D4<<G 4<EF<??<=O  «�5M4O M?5>FD>F5E=<>4 < M?5>FD>=<>4» 
?> =4?D46?5=<N ?>47>F>6><  23.03.03 «->E??G4F4F<O FD4=E?>DF=>-

F5E=>?>7<G5E><E <4L<= < >><??5>E>6» 6=>EOFEO E?54GNM<5 <7<5=5=<O: 
&&&&&&&&&&&&&&&&; 
&&&&&&&&&&&&&&&&; 
&&&&&&&&&&&&&&&&; 

 

�D>7D4<<4 ?5D5E<>FD5=4 =4 74E544=<< >4D54DO 

 
�D>F>>>? 7 ___ >F ________ 7. 

 
�4654GNM<= >4D54D>= 

,<EE4<4>6 �.�.      /      ?D>D5EE>D     /    ______________    / 
                          (D4<<?<O, <<O, >FG5EF6>)    (GG5=>5 764=<5)                    (?>4?<EL) 

 
�4>5D5=> 

�D54E544F5?L <5F>4<G5E>>= >><<EE<< D4>G?LF5F4 
�5?<>>6 �.�./      4>F5=F      / ______________ 

                        (D4<<?<O, <<O, >FG5EF6>)           (GG5=>5 764=<5)                     (?>4?<EL) 

«____» _______ 20    7. 
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�<EF D57<EFD4F<< <7<5=5=<= 6 $�� 
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?/? 

�><5D4 D4745-
?>6, 745 ?D><7-
6545=O <7<5=5-

=<O 

�>>G<5=F, 6 >>-
F>D>< >FD465=O 

<7<5=5=<O 

�>4?<EL $4EL<DD>6>4 
?>4?<E< 

�4F4 
66545=<O 

<7<5=5=<= 
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